
MATHS

BOOKS - NIKITA MATHS (HINGLISH)

CONTINUITY

MULTIPLE CHOICE QUESTIONS

1. The function  is discontinuous for

A.  only

B.  only

C.  and other values of x

D.  only

Answer: D

W h Vid S l i

f(x) =
2x2 + 7

x3 + 3x2 − x − 3

x = 1

x = 1, − 1

x = 1, − 1, − 3

x = 1, − 1, − 3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xRY5PBKecb2V


Watch Video Solution

2. Find the points of discontinuity of , where 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y =
1

u2 + u − 2
u =

1

x − 1

x = 2,
1

2

x = 1, 2,
1

2

x = 2,
−1

2

z = 1, 2,
−1

2

3. If  is continuous at , where ,for ,

then 

A. -1

B. 1

f(x) x = 3 f(x) =
x2 − 7x + 12

x2 − 5x + 6
x ≠ 3

f(3) =

https://dl.doubtnut.com/l/_xRY5PBKecb2V
https://dl.doubtnut.com/l/_am7c719UlSTc
https://dl.doubtnut.com/l/_IfVFxB2Z62Tu


C. 

D. 

Answer: A

Watch Video Solution

1

5

7
5

4. If  is continuous for all x, where ,

then 

A. 7

B. -7

C. 

D. None of these

Answer: A

View Text Solution

f(x) f(x) =
⎧
⎨⎩

, for x ≠ 2

k, forx = 2

x2 − 7x + 12

( x − 2 ) 2

k =

±7

https://dl.doubtnut.com/l/_IfVFxB2Z62Tu
https://dl.doubtnut.com/l/_JDLuf5lckboG


5. if the function  for  and  for

 is continuous function at  then value of  is:

A. 2

B. -1

C. 1

D. 0

Answer: D

Watch Video Solution

f(x) =
x2 − (a + 2)x + a

x − 2
x ≠ 2 f(x) = 2

x = 2 x = 2 a

6. If  is continuous at , where , for 

, then 

A. 

B. 

f(x) x = 2 f(x) =
(x2 − x − 2)

20

(x3 − 12x + 16)10

x ≠ 2 f(2) =

320

210

310

220

https://dl.doubtnut.com/l/_Y3k3DEnVzkq3
https://dl.doubtnut.com/l/_87qA8iiC4kGH


C. 

D. 

Answer: C

Watch Video Solution

( )
10

3
2

( )
203

2

7. If  is continuous at , where

, for , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = − 2

f(x) = + −
2

x + 2

1

x2 − 2x + 4

24

x3 + 8
x ≠ − 2

f( − 2) =

−1

4

1

4

11

12

−11

12

https://dl.doubtnut.com/l/_87qA8iiC4kGH
https://dl.doubtnut.com/l/_LAPs7TmIto6t


8. If  is continuous at , where , for , then 

A. 

B. 

C. n

D. 

Answer: C

Watch Video Solution

f(x) x = 1 f(x) =
xn − 1
x − 1

x ≠ 1

f(1) =

1

n

1

n(n − 1)

n(n − 1)

9. Examine the continuity of the given function at given points

, for  at 

,for 

A. 

f(x) =
x + 3x2 + 5x3 + .... . + (2n − 1)xn − n2

x − 1
x ≠ 1

x = 1 and =
n(n2 − 1)

3
x = 1

n(n + 1)(2n − 1)

6

https://dl.doubtnut.com/l/_LAPs7TmIto6t
https://dl.doubtnut.com/l/_N9KuhcRMqfki
https://dl.doubtnut.com/l/_uFKszG5ToJLo


B. 

C. 

D. 

Answer: C

Watch Video Solution

n(n + 1)(2n − 1)

3

n(n + 1)(4n − 1)

6

n(n + 1)(4n − 1)

3

10. If  is continuous at , where  ,

then 

A. 0

B. 3

C. -6

D. 

Answer: A

Watch Video Solution

f(x) x = 3 f(x) = {
, forx ≠ 3

2x + k , otherwise

x2 − 9

x − 3

k =

1

6

https://dl.doubtnut.com/l/_uFKszG5ToJLo
https://dl.doubtnut.com/l/_dYF41MPTiqj5


11. If  is continuous at , where

 , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) x = 16

f(x) =
⎧
⎨
⎩

, forx ≠ 16

k, forx = 16

x8 − ( 256 ) 4

x4 − ( 16 ) 4 k =

(16)4

2(16)4

4(16)4

3(16)4

12. The value of 
 so that the function 


is continuous, is given
 
 (b) 6

(c) 2 (d) 4

f(0),

f(x) = (x ≠ 0)
(27 − 2x)

2
− 3

9 − 3(243 + 5x)
1 / 5

− 2

2

3

https://dl.doubtnut.com/l/_dYF41MPTiqj5
https://dl.doubtnut.com/l/_GS2JPz3vFWu9
https://dl.doubtnut.com/l/_HJtorJmYjMfz


A. -2

B. 2

C. 

D. 

Answer: B

Watch Video Solution

−2

3

2

3

13. If  is continuous at x=0, then what is the value of

f(0)?

A. 

B. 

C. 

D. 

Answer: D

f(x) = (1 + x)5 / x

1

3

1

2

5

6

1

6

https://dl.doubtnut.com/l/_HJtorJmYjMfz
https://dl.doubtnut.com/l/_CdhXZQmroLTq


Watch Video Solution

14. If the function f(x) defined as : , for  and

=3 , for  Show that f(x) has a removable discontinuity at 

A. 120

B. 240

C. 120

D. -240

Answer: B

Watch Video Solution

f(x) =
x4 − 64x

√x2 + 9 − 5
x ≠ 4

x = 4 x = 4

15. The value of 
 so that the function


 becomes continuous for all 


given by
 
(b) 
(c) 
(d) 

f(0),

f(x) =
√a2 − ax + x2 − √a2 + ax + x2

√a + x − √a − x

x, a
3
2 a

1
2 −a

1
2 −a

3
2

https://dl.doubtnut.com/l/_CdhXZQmroLTq
https://dl.doubtnut.com/l/_6zE89T4L6Bal
https://dl.doubtnut.com/l/_vxl8co5Ofkq0


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−a√a

a√a

−√a

√a

16. Evaluate :


A. 

B. 2a

C. 

D. 

Answer: C

Watch Video Solution

(lim)
x

→
2 a+

√x − 2a + √x − √2a

x2 − 4a2

2√a

1

2√a

1

2a

https://dl.doubtnut.com/l/_vxl8co5Ofkq0
https://dl.doubtnut.com/l/_VUvbfBjxfhQf


17. If  is continuous at , where 

, for , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x = √2

f(x) =
√3 + 2x − (√2 + 1)

x2 − 2
x ≠ √2 f(√2) =

1

2(2 + √2)

1

√2(2 + √2)

1

2 + √2

1

2 + 2√2

18. If  is continuous at , where ,

for , then 

A. 

f(x) x = 5 f(x) =
√3 + √4 + x − √6

x − 5

x ≠ 5 f(5) =

1

2√6

https://dl.doubtnut.com/l/_VUvbfBjxfhQf
https://dl.doubtnut.com/l/_7tsQdCMup5xz
https://dl.doubtnut.com/l/_qPS8I6JwPwbv


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

1

3√6

1

12√6

19. If  is continuous at , where , for ,

then 

A. 2

B. 0

C. -1

D. 1

Answer: C

Watch Video Solution

f(x) x = 0 f(x) = sin x − cos x x ≠ 0

f(0) =

https://dl.doubtnut.com/l/_qPS8I6JwPwbv
https://dl.doubtnut.com/l/_cXXpZNK757Dd


20. If  is continuous at , where , for

, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) x =
π

2
f(x) =

√2 − √1 + sin x

cos2 x

x ≠
π

2
f( ) =

π

2

4√2

2√2

1

4√2

1

2√2

21. If  is continuous at , where , for 

, then 

A. 2

B. 

f(x) x =
π

4
f(x) =

1 − tan x

1 − √2 sin x

x ≠
π

4
f( ) =

π

4

√2

https://dl.doubtnut.com/l/_cXXpZNK757Dd
https://dl.doubtnut.com/l/_m86k1gED7G7r
https://dl.doubtnut.com/l/_GLRgoTJd8uOX


C. 

D. 

Answer: A

Watch Video Solution

2√2

1

√2

22. If  is continuous at  ,where  ,for 

 ,then 

A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
sin(π cos2 x)

x2

x ≠ 0 f(0) =

π

2

−π

π

https://dl.doubtnut.com/l/_GLRgoTJd8uOX
https://dl.doubtnut.com/l/_xz3aHPt04sQY
https://dl.doubtnut.com/l/_vF8NhNLEHiik


23. If  is continuous at  where 

 ,for  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x =
π

4

f(x) =
2√2 − (cos x + sin x)3

1 − sin 2x
x ≠

π

4
f( ) =

π

4

3

√2

√2

3

1

√2

3√2

24. If  is continuous at , where

, then 

A. 

B. 

f(x) θ =
π

4

f(θ) =
⎧
⎨
⎩

, for θ ≠

, for θ =

1 − tan θ

1 − √2 sin θ

π

4

k

2
π

4

k =

2√2

4√2

https://dl.doubtnut.com/l/_vF8NhNLEHiik
https://dl.doubtnut.com/l/_AhHJ7rp5NcHX


C. 2

D. 4

Answer: D

Watch Video Solution

25. The function  is not defined at . The

value of , so that f(x) is continuous at , is

A. -1

B. 1

C. 

D. 

Answer: A

Watch Video Solution

f(x) =
1 − sin x + cos x

1 + sin x + cos x
x = π

f(π) x = π

−1

2

1

2

https://dl.doubtnut.com/l/_AhHJ7rp5NcHX
https://dl.doubtnut.com/l/_25C12Mp27wON
https://dl.doubtnut.com/l/_LDlrPHd2yRe1


26. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x =
π

2
f(x) =

cos x

√1 − sin x

x ≠
π

2
f( ) =

π

2

1

2√2

1

√2

2√2

√2

27. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

f(x) x =
π

4
f(x) =

cos x − sin x

cos 2x

x ≠
π

4
f( ) =

π

4

1

√2

−1

√2

√2

https://dl.doubtnut.com/l/_LDlrPHd2yRe1
https://dl.doubtnut.com/l/_ocdAqGUacqmB


D. 

Answer: A

Watch Video Solution

−√2

28. If  is continuous at , where , for 

, then 

A. 4

B. -4

C. -2

D. None of these

Answer: C

Watch Video Solution

f(x) x =
π

4
f(x) =

2 − cos ec2x

cot x − 1

x ≠
π

4
f( ) =

π

4

https://dl.doubtnut.com/l/_ocdAqGUacqmB
https://dl.doubtnut.com/l/_EIIWx30uRwHC


29. If  is continuous at , where , for ,

then 

A. -1

B. 1

C. 0

D. 2

Answer: A

View Text Solution

f(x) x = 0 f(x) =
sin(x2 − x)

x
x ≠ 0

f(0) =

30. If  is continuous at , where

, then 

A. 2

B. -2

f(x) x = 0

f(x) = {
, for x ≠ 0

k2, for x = 0

x cos x + 3 tan x

x2 + sin x k =

https://dl.doubtnut.com/l/_b0czydxdTygm
https://dl.doubtnut.com/l/_8jtNaqhQOFBT


C. 

D. None of these

Answer: C

Watch Video Solution

±2

31. If  is continuous at , where 

, then 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

f(x) x = 0

f(x) = , x ≠ 0
sin(a + x) − sin(a − x)

tan(a + x) − tan(a − x)
f(0) =

2 sec3 a

sec3 a

cos3 a

https://dl.doubtnut.com/l/_8jtNaqhQOFBT
https://dl.doubtnut.com/l/_RZTDDv79kcUj
https://dl.doubtnut.com/l/_F1SiJiXHOn6B


32.  is defined by 

and  is continuous at  then 

A. -4

B. -2

C. -8

D. -6

Answer: A

Watch Video Solution

f : R → R f(x) = { , x ≠ 0λ, x = 0
cos 3x − cos x

x2

f x = 0; λ =

33. If  is continuous at , where ,

then 

A. 

B. 

C. 

f(x) x = 0 f(x) = {
, for x ≠ 0

k, forx = 0

1 − cos x

x

k =

1

2

−1

2

1

4

https://dl.doubtnut.com/l/_F1SiJiXHOn6B
https://dl.doubtnut.com/l/_4NH7jdRQ4pnh


D. 0

Answer: D

Watch Video Solution

34. If  is continuous at , where ,

then 

A. 1

B. -1

C. 

D. None of these

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
⎧
⎨⎩

, for x ≠ 0

, for x = 0

1 − cos kx

x2

1
2

k =

±1

https://dl.doubtnut.com/l/_4NH7jdRQ4pnh
https://dl.doubtnut.com/l/_Ja4BbtTSdbdK


35. If  is continuous at , where  for ,

then 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

f(x) x = 0 f(x) =
1 − cos 3x

x tan x
x ≠ 0

f(0) =

3

2

9

2

3

4

36. If the function is continuous at x = 0 then k =

?

A. 16

B. 2

f(x){
, x ≠ 0

        k, x = 0

1 − cos 4x

8x2

https://dl.doubtnut.com/l/_l4jkUYGAoXSi
https://dl.doubtnut.com/l/_7drwjxXWlw4Z


C. -1

D. 1

Answer: D

Watch Video Solution

37. If  is continuous at , where 

, for , then 

A. 2

B. 

C. 4

D. None of these

Answer: D

Watch Video Solution

f(x) = x = 0

f(x) =
(1 − cos 2x)(3 + cos x)

x tan 4x
x ≠ 0 f(0) =

1

2

https://dl.doubtnut.com/l/_7drwjxXWlw4Z
https://dl.doubtnut.com/l/_6zHHldX2kOce
https://dl.doubtnut.com/l/_uM1Ld5IqXPRf


38. If  are the roots of  and  is continuous at 

, where , for , then 

A. 0

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

α, β ax2 + bx + c = 0 f(x)

x = α f(x) =
1 − cos(ax2 + bx + c)

(x − α)2
x ≠ α f(α) =

4ac − b2

2

b2 − 4ac

2

39. If  is continuous at , where

, then 

A. -2

B. -4

f(x) x = 0

f(x) =
⎧
⎨⎩

, for x ≠ 0

2k, for x = 0

cos2 x − sin2 x − 1

√x2 + 1 − 1 k =

https://dl.doubtnut.com/l/_uM1Ld5IqXPRf
https://dl.doubtnut.com/l/_XS13Hhg0wryg


C. 2

D. None of these

Answer: A

Watch Video Solution

40. If  is continuous at , where

, then 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

f(x) x = a

f(x) = , for x ≠ a
sin(a + x) + sin(a − x) − 2 sin a

x sin x
f(a) =

(cos a − 1)
2

a

(cos a − 1)
1

a

(1 − cos a)
1

a

https://dl.doubtnut.com/l/_XS13Hhg0wryg
https://dl.doubtnut.com/l/_SVVlfGgl5l1v
https://dl.doubtnut.com/l/_hV34norXQrsh


41. If  is continuous at , where ,

for , then 

A. 0

B. 2

C. -2

D. 4

Answer: A

Watch Video Solution

f(x) x = 0 f(x) =
3 − 4 cos x + cos 2x

x2

x ≠ 0 f(0) =

42. If  is continuous at , where ,

for , then 

A. 

B. 

C. 8

f(x) x = 0 f(x) =
3 − 4 cos x + cos 2x

x4

x ≠ 0 f(0) =

1

4

1

2

https://dl.doubtnut.com/l/_hV34norXQrsh
https://dl.doubtnut.com/l/_1BwWvi7DgUl5


D. 4

Answer: B

Watch Video Solution

43. The value of k which makes 

continuous at  is

A. 0

B. 1

C. -1

D. no value of k

Answer: D

Watch Video Solution

f(x) =
⎧
⎨⎩

sin( ), for x ≠ 0

k, for x = 0

1
x

x = 0

https://dl.doubtnut.com/l/_1BwWvi7DgUl5
https://dl.doubtnut.com/l/_ezYLxijGCUAw


44. If the function f(x) defined by 

 


is continuous at x = 0, then k is equal to

A. 0

B. 1

C. -1

D. 

Answer: A

Watch Video Solution

f(x) = {
xsin , for x ≠ 0

k, for x = 0

1
x

1

2

45. If  is continuous at , where ,

for , then 

A. 1

B. -1

f(x) x = a f(x) = (x − a)sin( )
1

x − a

x ≠ a f(a) =

https://dl.doubtnut.com/l/_aLlAcyrnD68C
https://dl.doubtnut.com/l/_xLcy3imzgT0y


C. 0

D. 

Answer: C

View Text Solution

∞

46. If  is continous at 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x) = , forx ≠
1 − √3 tan x

π − 6x

π

6

x = , find f( ).
π

6

π

6

1

3√3

1

2√3

2

3√3

4

3√3

https://dl.doubtnut.com/l/_xLcy3imzgT0y
https://dl.doubtnut.com/l/_BfH4vOuTCfwq
https://dl.doubtnut.com/l/_CF0SfNmm3Bc1


47. If  is continuous at , where , for 

, then 

A. 2

B. 1

C. 

D. 

Answer: C

View Text Solution

f(x) x =
π

4
f(x) =

tan( − x)π

4

cot 2x

x ≠
π

4
f( ) =

π

4

1

2

1

4

48. Find the value of k, if the functions are continuous at the points given

against them : 

A. 

f(x) = , forx ≠

= k, forx =

⎫
⎬⎭atx = .

√3 − tan x

π − 3x

π

3
π

3

π

3

−2

3

https://dl.doubtnut.com/l/_CF0SfNmm3Bc1
https://dl.doubtnut.com/l/_SYwplM5tvKzH


B. 

C. 

D. 

Answer: D

Watch Video Solution

2

3

−4
3

4
3

49. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

f(x) x =
π

2
f(x) =

1 − sin x

( − x)
2

π

2

x ≠
π

2
f( ) =

π

2

1

2

−1

2

π

2

−π

2

https://dl.doubtnut.com/l/_SYwplM5tvKzH
https://dl.doubtnut.com/l/_hvlBJZvopF0f


50. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

f(x) x =
π

2
f(x) =

1 − sin x

(π − 2x)
2

x ≠
π

2
f( ) =

π

2

−1

4

−1

8

1

4

1

8

51. If  then

value of  is

A. -1

f(x) = {
,x ≠

λ ,x =
, be continuous at x = ,

1 − sin x

π − 2x

π

2
π

2

π

2

λ

https://dl.doubtnut.com/l/_hvlBJZvopF0f
https://dl.doubtnut.com/l/_tRHynnFA43gH
https://dl.doubtnut.com/l/_wdn053LrNd7v


B. 1

C. 0

D. 2

Answer: C

Watch Video Solution

52. For what value of k, function  is

continuous at ?

A. 3

B. -3

C. 6

D. -6

Answer: C

Watch Video Solution

f(x) = {
, if x ≠

3, if x =

k cos x

π − 2x

π

2
π

2

x =
π

2

https://dl.doubtnut.com/l/_wdn053LrNd7v
https://dl.doubtnut.com/l/_Bbu8VawXzXi2


53. If  is contiuous at , where

, then 

A. 

B. 0

C. 

D. 

Answer: B

Watch Video Solution

f(x) x =
π

2

f(x) = , for x ≠
cos ecx − sin x

− x
π

2

π

2
f( ) =

π

2

1

4

1

6

1

8

54. If  is continuous at , where

, then 

A. 

f(x) x = π

f(x) = , for x ≠ π
√2 + cos x − 1

(π − x)
2

f(π) =

1

4

https://dl.doubtnut.com/l/_Bbu8VawXzXi2
https://dl.doubtnut.com/l/_z4dVAeO5J88z
https://dl.doubtnut.com/l/_1JfSTyQih0RP


B. 

C. 

D. 

Answer: A

Watch Video Solution

−1

4

1

2

−1

2

55. If  is continuous at , where , for

, then 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

f(x) x = π f(x) =
1 − cos(7(x − π))

5(x − π)2

x ≠ π f(π) =

49
5

49
10

7
2

https://dl.doubtnut.com/l/_1JfSTyQih0RP
https://dl.doubtnut.com/l/_XWCLpPWzcHhn


56. If  is continuous at , where ,

then 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

f(x) x = 0 f(x) = (1 + 2x) , for x ≠ 0
1
x

f(0) =

e2

e − 2

2e

57. If  is continuous at , where

, then 

A. 

B. 

f(x) x = 0

f(x) = { (1 + 3x) , for x ≠ 0

k, for x = 0

1
x

k =

e − 3

e3

https://dl.doubtnut.com/l/_XWCLpPWzcHhn
https://dl.doubtnut.com/l/_e2Q09TmtEGns
https://dl.doubtnut.com/l/_pNoPiL91TnUD


C. 

D. None of these

Answer: B

Watch Video Solution

3e

58. If  is continuous at , where

, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) x = 0

f(x) = ( ) , for x ≠ 0
4 − 3x

4

8
x

f(0) =

e − 3

e − 4

e − 6

e − 12

https://dl.doubtnut.com/l/_pNoPiL91TnUD
https://dl.doubtnut.com/l/_OmPDfSknnjXx
https://dl.doubtnut.com/l/_b2YppKj0caHo


59. If , then at 

A. f is continuous if 

B. f is continuous

C. f has removable discontinuity

D. f has irremovable discontinuity

Answer: C

Watch Video Solution

f(x) = {
, for x ≠ 2

5, for x = 2

x2 − 4

x − 2 x = 2

f(0) = − 2

60. If , then at 

A. f is continuous if 

B. f is continuous

C. f has irremovable discontinuity

D. f has removable discontinuity

f(x) =
⎧
⎨⎩

3√ , for x ≠ 0

e6, for x = 0

4x + 1
1 − 4x x = 0

f(0) = e − 8

https://dl.doubtnut.com/l/_b2YppKj0caHo
https://dl.doubtnut.com/l/_YmGoSmkh2qhF


Answer: D

Watch Video Solution

61. If  is continuous at , where

, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) x = 0

f(x) = ( ) , for x ≠ 0
4 − 3x

4 + 5x

1
x

f(0) =

e2

e − 2

e − 3

e5

62. If  is continuous at , where , for ,

then 

f(x) x = 2 f(x) = (x − 1)
1

2 − x x ≠ 2

f(2) =

https://dl.doubtnut.com/l/_YmGoSmkh2qhF
https://dl.doubtnut.com/l/_DXsv9cTG8wbw
https://dl.doubtnut.com/l/_95DrlKBncLMI


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

−1

e

1

e

−e

63. If  is continuous at , where

, then 

A. 

B. 

C. e

D. None of these

Answer: C

f(x) x = 0

f(x) = { (sec2 x)
cot2 x

, for x ≠ 0

k,  for x = 0
k =

1

e

2

e

https://dl.doubtnut.com/l/_95DrlKBncLMI
https://dl.doubtnut.com/l/_vSJNo7WPWrLQ


Watch Video Solution

64. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. e

Answer: B

Watch Video Solution

f(x) x =
π

4
f(x) = (1 + cos 2x)4 sec 2x

x ≠
π

4
f( ) =

π

4

e − 4

e4

4e

65. In order that the function  is continuous at x = 0,

f(0) must be defined as

A. 

f(x) = (x + 1)cot x

f(0) = 0

https://dl.doubtnut.com/l/_vSJNo7WPWrLQ
https://dl.doubtnut.com/l/_vjWYC2ZVKX8K
https://dl.doubtnut.com/l/_aklW3M0X7XHr


B. 

C. 

D. 

Answer: B

Watch Video Solution

f(0) = e

f(0) =
1

e

f(0) =
2

e

66.  for what value of k, f(x) is

continuous at x = 0 ?

A. e

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) =
⎧
⎨
⎩
(tan + x)

1 / x

, x ≠ 0

k, x = 0

π

4

e − 1

e2

e − 2

https://dl.doubtnut.com/l/_aklW3M0X7XHr
https://dl.doubtnut.com/l/_lyU5Z1ATMDuH


Watch Video Solution

67. The function  is not defined at . The value

of , so that f is continuous at , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = (sin 2x)
tan2 2x

x =
π

4

f(π /4) x = π /4

1

√e

−1

√e

√e

e − 2

68. If  is continuous at , where , for ,

then 

A. 0

B. 1

f(x) x = 1 f(x) = (log2 2x)
1

log2 x x ≠ 1

f(1) =

https://dl.doubtnut.com/l/_lyU5Z1ATMDuH
https://dl.doubtnut.com/l/_m1CmIkUyVn5i
https://dl.doubtnut.com/l/_8p3t3K1R3BAi


C. e

D. None of these

Answer: C

Watch Video Solution

69. If is continuous at , where ,

then 

A. 4

B. -2

C. 2

D. None of these

Answer: C

Watch Video Solution

f(x) x = 0 f(x) = {
, for x ≠ 0

2, for x = 0

8x − 2x

kx − 1

k =

https://dl.doubtnut.com/l/_8p3t3K1R3BAi
https://dl.doubtnut.com/l/_btkuUk9AaEA6
https://dl.doubtnut.com/l/_yZAYdiNtHJji


70. If  is continuous at , where , for ,

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x = 0 f(x) =
4x − ex

6x − 1
x ≠ 0

f(0) =

log 4 − 1

log 6

1 − log 4

log 6

log 2 − 2

log 6

2 − log 2

log 6

71. The value of f at x =0 so that funcation  is

continuous at x =0 is

A. 0

B. 

C. 

f(x) = , x ≠ 0
2x − 2− x

x

e4

log 4

https://dl.doubtnut.com/l/_yZAYdiNtHJji
https://dl.doubtnut.com/l/_YGRHZ565im8w


D. log 2

Answer: C

Watch Video Solution

72. If the function 
 defined by

is continuous at 
, find 
.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x)

f(x) = { ,     if  x ≠ 0            k,                       i
log(1 + ax) − log(1 − bx)

x

x = 0 k

log a + log b

log a − log b

a + b

a − b

https://dl.doubtnut.com/l/_YGRHZ565im8w
https://dl.doubtnut.com/l/_UkM30VvpXyu6
https://dl.doubtnut.com/l/_Ytb8Rv4ufspm


73. If  is continuous at , where

 , for , then 

A. 

B. 

C. 

D. 100

Answer: B

Watch Video Solution

f(x) x = 0

f(x) =
log 100 + log(0.01 + x)

3x
x ≠ 0 f(0) =

10

3

100

3

1

3

74. For what value of k , the function defined by

 for  


 for  


is continuous at ?

A. 1

f(x) =
log(1 + 2x)sin x0

x2
x ≠ 0

= K x = 0

x = 0

https://dl.doubtnut.com/l/_Ytb8Rv4ufspm
https://dl.doubtnut.com/l/_SJTHHxPqGqXz


B. -1

C. 2

D. -2

Answer: B

Watch Video Solution

75. If  is continuous at x = 0,

then k is equal to

A. -1

B. 1

C. 3

D. -3

Answer: A

Watch Video Solution

f(x) = {
log ( 1 − 3x ) (1 + 3x), for x ≠ 0

k, for x = 0

https://dl.doubtnut.com/l/_SJTHHxPqGqXz
https://dl.doubtnut.com/l/_031yu2u7uVpl


76. If is continuous at , where , for ,

then 

A. 14

B. 7

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 7 f(x) =
log x − log 7

x − 7
x ≠ 7

f(7) =

1

14

1

7

77. If  is continuous at , where , for 

then 

A. 1

B. -1

f(x) x = 0 f(x) =
e5x − e2x

sin 3x
x ≠ 0

f(0) =

https://dl.doubtnut.com/l/_031yu2u7uVpl
https://dl.doubtnut.com/l/_NkrFSLBax3DY
https://dl.doubtnut.com/l/_ONKDIaHzmdMk


C. 3

D. None of these

Answer: A

Watch Video Solution

78. Let  for  for  is

continuous at  then 

A. 4

B. -2

C. 2

D. 

Answer: D

Watch Video Solution

f(x) =
(ekx − 1). sin Kx

x2
x ≠ 0; = 4, x = 0

x = 0 k

±2

https://dl.doubtnut.com/l/_ONKDIaHzmdMk
https://dl.doubtnut.com/l/_LyRvH4B8qXCB
https://dl.doubtnut.com/l/_xmQaP1v6LCSn


79. If  is continuous at , where , for 

, then 

A. 

B. 

C. 2

D. -2

Answer: C

Watch Video Solution

f(x) x = 0 f(x) =
(e2x − 1)tan x

x sin x

x ≠ 0 f(0) =

1

2

−1

2

80. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

f(x) x = 0 f(x) =
(e3x − 1)sin x ∘

x2

x ≠ 0 f(0) =

π

180

π

60

π

90

https://dl.doubtnut.com/l/_xmQaP1v6LCSn
https://dl.doubtnut.com/l/_RM4GwfIFJLDE


D. 3

Answer: B

Watch Video Solution

81. if , for  is continuous at , then value of

f(0) is

A. 

B. 

C. 1

D. 

Answer: A

Watch Video Solution

f(x) =
ex2

− cos x

x2
x ≠ 0 x = 0

3
2

1
2

−1
2

https://dl.doubtnut.com/l/_RM4GwfIFJLDE
https://dl.doubtnut.com/l/_5PL23EpeT5U6


82. If  is continuous at , where ,

then 

A. log 9

B. log 3

C. log 1

D. log e

Answer: A

Watch Video Solution

f(x) x = 0 f(x) = {
, for x ≠ 0

k, for x = 0

3x − 3 − x

sin x

k =

83. If  is continuous at , where ,

then 

A. log 9

B. log 81

f(x) x = 0 f(x) = {
, for x ≠ 0

k, for x = 0

9x − 9 − x

sin x

k =

https://dl.doubtnut.com/l/_fBmpoj1NuEMv
https://dl.doubtnut.com/l/_7shMFVK5EES0


C. 2 log 3

D. 

Answer: B

Watch Video Solution

(log 9)2

84. If  is continuous at , where ,

for , then 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

f(x) x = 0 f(x) =
10x + 7x − 14x − 5x

1 − cos 4x

x ≠ 0 f(0) =

(log 2)log( )
1

4

5

7

(log 2)log( )
1

8

5

7

(log 2)log( )
1

4
7
5

https://dl.doubtnut.com/l/_7shMFVK5EES0
https://dl.doubtnut.com/l/_6NQdqCMsFOCw
https://dl.doubtnut.com/l/_Wfme9uNoWstE


85. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
(5x − 2x)x

cos 5x − cos 3x

x ≠ 0 f(0) =

log( )
−1

4

2

5

log( )
1

4

2

5

log( )
−1

8

2

5

log( )
1

8

2

5

86. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

f(x) x = 0 f(x) =
4x − 2x + 1 + 1

1 − cos x

x ≠ 0 f(0) =

(2 log 2)
2

2(log 2)
2

(log 2)
2

https://dl.doubtnut.com/l/_Wfme9uNoWstE
https://dl.doubtnut.com/l/_mBPF4tr0KAL9


D. 

Answer: B

Watch Video Solution

(log 2)
2

2

87. If  is continuous at , where  , for 

, then 

A. log 3

B. log 6

C. log 2

D. log 18

Answer: C

Watch Video Solution

f(x) x =
π

2
f(x) =

3x − − 6x −π

2
π

2

cos x

x ≠
π

2
f( ) =

π

2

https://dl.doubtnut.com/l/_mBPF4tr0KAL9
https://dl.doubtnut.com/l/_D1J7KslZDIkT


88. If  is continuous at , where , for 

, -1 for x=a, then 

A. e

B. 2e

C. 1

D. 0

Answer: C

Watch Video Solution

f(x) x = a, a > 0 f(x) = [
ax − xa

xx − aa

x ≠ a a =

89. The function f(x) is condtions at the point x=0 where 

 


= 5 for x=0 then value of k is

A. 5

B. -5

f(x) = , forx ≠ 0
log(1 + kx)

sin x

https://dl.doubtnut.com/l/_7NErslLVatVd
https://dl.doubtnut.com/l/_RMSt0YXK3oMH


C. 

D. 

Answer: A

Watch Video Solution

1

5

−1

5

90. For what value of k, the function defined by 

 


is continuous at x = 0 ?

A. 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = {
, for x ≠ 0

k, for x = 0

log ( 1 + 2x ) sin x ∘

x2

1

2

π

90

90

π

https://dl.doubtnut.com/l/_RMSt0YXK3oMH
https://dl.doubtnut.com/l/_mKAgJYoouqza


91. If  is continuous at , where , for 

then 

A. e

B. 

C. 

D. 1

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
log sec2

x

x sin x
x ≠ 0

f(0) =

±1

−1

92. If  is continuous at , where

, for , then 

A. 0

B. 2

f(x) x = 0

f(x) =
log(1 + x2) − log(1 − x2)

sec x − cos x
x ≠ 0 f(0) =

https://dl.doubtnut.com/l/_mKAgJYoouqza
https://dl.doubtnut.com/l/_6IPdZksB3r1f
https://dl.doubtnut.com/l/_ZX2tEejp2QtM


C. 1

D. -1

Answer: B

Watch Video Solution

93. If  is continuous at , where

, for , then 

A. 0

B. 2

C. 1

D. -1

Answer: A

Watch Video Solution

f(x) x = 0

f(x) =
log(1 + x + x2) + log(1 − x + x2)

sin x
x ≠ 0 f(0) =

https://dl.doubtnut.com/l/_ZX2tEejp2QtM
https://dl.doubtnut.com/l/_A9UOpNpkP6A2
https://dl.doubtnut.com/l/_7iyM3QJosqdc


94. If  is continuous at , where

, for , then 

A. 

B. 

C. 2

D. 1

Answer: D

Watch Video Solution

f(x) x = 0

f(x) =
log(2 + x) − log(2 − x)

tan x
x ≠ 0 f(0) =

1

4

1

2

95. If f(x) is continous at  where 

find f(0).

A. 1

B. 3

C. 

x = 0, f(x) , forx ≠ 0,
(e3x − 1)sin x

x log(1 + x)

2

3

https://dl.doubtnut.com/l/_7iyM3QJosqdc
https://dl.doubtnut.com/l/_meQpZva5B4Tw


D. 

Answer: B

Watch Video Solution

1

3

96. If  in , then for removable

discontinuity of f at 

A. 4 log 8

B. 8 log 2

C. 

D. 

Answer: C

View Text Solution

f(x) =
(8x − 1)

2

sin x log(1 + )x

4

[ − 1, 1] − {0}

x = 0, f(0) =

4(log 8)
2

8(log 2)
2

https://dl.doubtnut.com/l/_meQpZva5B4Tw
https://dl.doubtnut.com/l/_sIqun19E9CqH


97. If the function , for  is continuous at 

, find .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
(4sin x − 1)

2

x ⋅ log(1 + 2x)
x ≠ 0

x = 0 f(0)

(log 4)21

4

(log 4)21

2

2(log 4)2

2(log 2)2

98. If  is continuous at , where , for 

, then 

A. 

B. log 9

f(x) x = 0 f(x) =
(3sin x − 1)

2

x log(1 − x)
x ≠ 0

f(0) =

(log 3)2

https://dl.doubtnut.com/l/_juYYirNTGxwK
https://dl.doubtnut.com/l/_sTYXEAJGIFkZ


C.  log 3

D. log 3

Answer: A

Watch Video Solution

1

2

99. If  is continuous at , where 

, then 

A. 1

B. 

C. 2

D. -2

Answer: B

Watch Video Solution

f(x) x = 0

f(x) =
⎧⎪
⎨
⎪⎩

, for x ≠ 0

8, for x = 0

( ex − 1 ) 4

sin ( ) log(1 + )x2

k2
x2

2 k =

±2

https://dl.doubtnut.com/l/_sTYXEAJGIFkZ
https://dl.doubtnut.com/l/_tqkBhEo6YXPt


100. If , for , then for f to be

continuous in 

A. 

B. 

C. 1

D. None of these

Answer: C

Watch Video Solution

f(x) =
ex + e − x − 2

x sin x
x ∈ [ , ] − {0}

−π

2

π

2

[ , ], f(0) =
−π

2

π

2

−e2

e2

101. The function defined by  , is

continuous from right at point , then 

A. e

B. 

f(x) = { (1 + tan2 √x) , for x ≠ 0

k, for x = 0

1
2x

x = 0 k =

e2

https://dl.doubtnut.com/l/_KhEFkGi2yYvj
https://dl.doubtnut.com/l/_emewCYAmNXxx


C. 

D. None of these

Answer: C

Watch Video Solution

e
1
2

102. The function defined by 

 is continuous from right at the point

x =2, then k is equal to

A. 0

B. 4

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
⎧
⎨
⎩
(x2 + e )

− 1
, x ≠ 2

k                       , x = 2

1
2 − x

−1

4

1

4

https://dl.doubtnut.com/l/_emewCYAmNXxx
https://dl.doubtnut.com/l/_gQcVc6hZ7CWC


103. Is the function defined by continuous at 

?

A. f is discontinuous

B. f is continuous

C. 

D. 

Answer: B

Watch Video Solution

f(x) = x2 − sin x + 5

x = π

lim
x → π −

f(x) = π2 − 5

lim
x → π +

f(x) = 5 − π2

104. If  , then

A. 

B. 

f(x) = {
x, for 0 ≤ x <

1 − x, for ≤ x < 1

1
2

1
2

lim
x →

f(x) =
1 −

2

−1

2

lim
x →

f(x) =
1 +

2

−1

2

https://dl.doubtnut.com/l/_gQcVc6hZ7CWC
https://dl.doubtnut.com/l/_eOwtsAAyJhoO
https://dl.doubtnut.com/l/_lfIDg9wYveQp


C. f is continuous at 

D. f is discontinuous at 

Answer: C

Watch Video Solution

x =
1

2

x =
1

2

105. If , then f is

A. continuous at 

B. discontinuous at 

C. continuous at  and discontinuous at 

D. continuous at  and discontinuous at 

Answer: D

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

, for 0 < x < 3

x + 3, for 3 ≤ x < 6

, for 6 ≤ x < 9

x2 − 9

x − 3

x2 − 9

x + 3

x = 3, x = 6

x = 3, x = 6

x = 6 x = 3

x = 3 x = 6

https://dl.doubtnut.com/l/_lfIDg9wYveQp
https://dl.doubtnut.com/l/_G0h2Tj8QRKLr
https://dl.doubtnut.com/l/_PyDJvgqRt93b


106. If , then

A. f is discontinuous at 

B. f is continuous at 

C. 

D. 

Answer: A

Watch Video Solution

f(x) =
⎧
⎨⎩

, for 0 < x <

, for < x < π

sin 2x

√1 − cos 2x

π

2

cos x

π − 2x

π

2

x =
π

2

x =
π

2

lim
x →

f(x) =
π −

2

1

2

lim
x →

f(x) = 0
π +

2

107. If , then at 

A. 

B. 

C. f has removable discontinuity at 

D. f has irremovable discontinuity at 

f(x) = {
x − 1, for 1 ≤ x < 2

2x + 3, for 2 ≤ x ≤ 3
x = 2

lim
x → 2 −

f(x) = 7

lim
x → 2 +

f(x) = 1

x = 2

x = 2

https://dl.doubtnut.com/l/_PyDJvgqRt93b
https://dl.doubtnut.com/l/_7MCH2fDBfQJN


Answer: D

Watch Video Solution

108. If , then

A.  is discontinuous at 

B.  is continuous at 

C.  is continuous at 

D.  is discontinuous at 

Answer: A

Watch Video Solution

f(x) = {
x sin x, for 0 < x ≤

sin(π + x), for < x < π

π

2
π

2
π

2

f(x) x =
π

2

f(x) x =
π

2

f(x) x = 0

f(x) x = 0

109. If  is continuous at , where

, then 

f(x) x = 0

f(x) =
⎧
⎨
⎩

+ cos x, for x > 0

, for x < 0

sin x
x

4 (1 − √1 − x )

x

f(0) =

https://dl.doubtnut.com/l/_7MCH2fDBfQJN
https://dl.doubtnut.com/l/_15jPgK6FUmr5
https://dl.doubtnut.com/l/_2XgL4BP86LLx


A. 2

B. -2

C. 4

D. None of these

Answer: A

Watch Video Solution

110. If , then

A. 

B. 

C. f has removable discontinuity

D. f has irremovable discontinuity

Answer: D

Watch Video Solution

f(x) = {
x + 2, if x ≤ 4

x + 4, if x > 4

lim
x → 4 +

f(x) = 6

lim
x → 4 −

f(x) = 8

https://dl.doubtnut.com/l/_2XgL4BP86LLx
https://dl.doubtnut.com/l/_qvt0mftj50OE


111. If , then

A. 

B. 

C. f has irremovable discontinuity

D. f has removable discontinuity

Answer: D

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

2x, if x < 2

2, if x = 2

x2, if x > 2

lim
x → 2 −

f(x) = − 4

lim
x → 2 +

f(x) = − 4

112. If , then f has removable

discontinuity at , if 

A. 2

f(x) =
⎧⎪
⎨
⎪⎩

x − 1, for 1 ≤ x < 2

2, for x = 2

2x − 3, for 2 < x < 3

x = 2 f(2) =

https://dl.doubtnut.com/l/_qvt0mftj50OE
https://dl.doubtnut.com/l/_VVRJI9XMJa2M
https://dl.doubtnut.com/l/_vpaAXHNY5vhh


B. 3

C. 1

D. -1

Answer: C

Watch Video Solution

113. If , then at 

A. 

B. 

C. f has removable discontinuity

D. f has irremovable discontinuity

Answer: D

Watch Video Solution

f(x) = {
x2, for x ≤ 1

x + 3, for x > 1
x = 1

lim
x → 1 −

f(x) = 4

lim
x → 1 +

f(x) = 1

https://dl.doubtnut.com/l/_vpaAXHNY5vhh
https://dl.doubtnut.com/l/_UbE1qJ97wJAA
https://dl.doubtnut.com/l/_C56ZTGBAjKop


114. If , for , then  is

A. continuous in (2, 4) except at 

B. discontinuous in (2, 4) except at 

C. discontinuous in (2, 4)

D. continuous in (2, 4)

Answer: D

Watch Video Solution

f(x) = √x − 2 2 < x < 4 f(x)

x = 3

x = 3

115. If , then in [0, 1]

A. f(x) is not continuous

B. f(x is continuous

C. f(x) is continuous at 

D. f(x) is continuous at 

f(x) = {
1 − x, for 0 < x ≤ 1

, for x = 01
2

x = 0

x = 1

https://dl.doubtnut.com/l/_C56ZTGBAjKop
https://dl.doubtnut.com/l/_qOYcJEJcvbBb


Answer: A

Watch Video Solution

116. If , then

A. f(x) is discontinuous in its domain

B. f(x) is continuous in its domain

C. f(x) is continuous in its domain except at 

D. f(x) is continuous in its domain except at 

Answer: B

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

3x + 5, for 0 ≤ x < 3

2x + 8, for 3 ≤ x < 5

x + 13, for 5 ≤ x ≤ 10

x = 3

x = 5

117. If , thenf(x) = {
, for x < 0

x + 1, for x ≥ 0

sin x
x

https://dl.doubtnut.com/l/_qOYcJEJcvbBb
https://dl.doubtnut.com/l/_KW6otRw5LhbR
https://dl.doubtnut.com/l/_zRzQOafg6tA2


A. f is continuous on its domain

B. f is discontinuous on its domain

C. f is continuous on its domain except 

D. f is discontinuous on its domain except 

Answer: A

Watch Video Solution

x = 0

x = 0

118. If  then

A. f is continuous on its domain

B. f is continuous on its domain except 

C. f is continuous on its domain except 

D. f is continuous on its domain except 

Answer: C

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

, for 0 ≤ x < 2

4x − 5, for 2 ≤ x ≤ 4

, for 4 < x ≤ 6,x ≠ 5

2x + 5

x + 1

x2 + 2

x − 5

x = 5

x = 4

x = 2

https://dl.doubtnut.com/l/_zRzQOafg6tA2
https://dl.doubtnut.com/l/_dts6jAH6pNlN


Watch Video Solution

119. If 

A. f is continuous on its domain except 

B. f is continuous on its domain

C. f is discontinuous on its domain

D. f is continuous on its domain except 

Answer: A

Watch Video Solution

f(x) =
⎧
⎨⎩

, for 0 < x ≤

, for < x ≤ π

sin 2x

√1 − cos 2x

π

2

cos x

π − 2x

π

2

x =
π

2

x = 0

120. If , then f is

A. f is continuous at 

B. f is discontinuous at 

f(x) =
⎧⎪
⎨
⎪⎩

x, for 0 ≤ x < 1

2, for x = 1

x + 1, for 1 < x ≤ 2

x = 1

x = 1

https://dl.doubtnut.com/l/_dts6jAH6pNlN
https://dl.doubtnut.com/l/_CW1fytmF2SZG
https://dl.doubtnut.com/l/_vXmLJZN5wOk7


C. 

D. 

Answer: B

Watch Video Solution

lim
x → 1 −

f(x) = 2

lim
x → 1 +

f(x) = 1

121. If  in [0, 5], then f is

A. continuous on its domain except at 

B. continuous on its domain except at 

C. continuous on its domain except at 

D. continuous on its domain

Answer: B

Watch Video Solution

f(x) =
x3 + 3x + 5

x3 − 3x + 2

x = 1, x = − 2

x = 1

x = − 2

https://dl.doubtnut.com/l/_vXmLJZN5wOk7
https://dl.doubtnut.com/l/_Rd4FLgqbVDuj


122. If , then in [4, 6]

A. f is discontinuous

B. f is continuous

C. f is continuous except at 

D. f is continuous except at 

Answer: D

Watch Video Solution

f(x) =
x + 1

(x − 2)(x − 5)

x = 2

x = 5

123. If , then in [0, 1]

A. f is continuous

B. f is discontinuous

C. f is continuous except at 

D. f is continuous except at 

f(x) =
x + 1

(x − 2)(x − 5)

x = 0

x = 1

https://dl.doubtnut.com/l/_Jqhe7fv9A2fO
https://dl.doubtnut.com/l/_CMs1LgKTc0tJ


Answer: A

Watch Video Solution

124. If , then f is

A. continuous on R except at 

B. continuous on R

C. discontinuous on R except at 

D. continuous on  only

Answer: B

Watch Video Solution

f(x) = {
x, for x ≥ 0

x2, for x < 0

x = 0

x = 0

R +

125. If , thenf(x) =
⎧⎪
⎨
⎪⎩

x2 − 4, for 0 ≤ x ≤ 2

2x + 3, for 2 < x ≤ 4

x2 − 5, for 4 < x ≤ 6

https://dl.doubtnut.com/l/_CMs1LgKTc0tJ
https://dl.doubtnut.com/l/_hi3SvxEnezS2
https://dl.doubtnut.com/l/_QDtbP49Xw7Fc


A. f is continuous on [0, 6]

B. f is discontinuous on [0, 6]

C. f is continuous on [0, 6] except at 

D. f is continuous on [0, 6] except at 

Answer: C

Watch Video Solution

x = 2

x = 4

126. If  , then

A. f is discontinuous on [2, 6]

B. f is continuous on [2, 6]

C. f is continuous on [2, 6] except at 

D. f is continuous on [2, 6] except at 

Answer: D

W t h Vid S l ti

f(x) =
⎧
⎨⎩

, for 2 ≤ x ≤ 4

, for 4 < x ≤ 6

1
x + 1

x + 1

x − 3

x = 3

x = 4

https://dl.doubtnut.com/l/_QDtbP49Xw7Fc
https://dl.doubtnut.com/l/_sFyFFYzESnew


Watch Video Solution

127. If , then

A. f is continuous on [0, 10] except at 

B. f is continuous on [0, 10] except at 

C. f is continuous on [0, 10] except at 

D. f is continuous on [0, 10]

Answer: A

Watch Video Solution

f(x) =

⎧⎪
⎨
⎪⎩

3, if 0 ≤ x ≤ 1

4, if 1 < x < 3

5, if 3 ≤ x ≤ 10

x = 1, 3

x = 1

x = 3

128. If , then

A. f is discontinuous on its domain

B. f is continuous on its domain

f(x) =
⎧⎪
⎨
⎪⎩

−2, for x ≤ − 1

2x, for − 1 < x ≤ 1

2, for x > 1

https://dl.doubtnut.com/l/_sFyFFYzESnew
https://dl.doubtnut.com/l/_l75TfTelScH8
https://dl.doubtnut.com/l/_VaoaorBTzHIH


C. f is continuous on its domain except at 

D. f is continuous on its domain except at 

Answer: B

Watch Video Solution

x = − 1

x = 1

129.  is

A. f is continuous on its domain except at 

B. f is continuous on its domain except at 

C. f is continuous on its domain except at 

D. f is continuous on its domain

Answer: C

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

|x| + 3, if x ≤ − 3

−2x, if −3 < x < 3

6x + 2, if x ≥ 3

x = − 3

x = 3

x = − 3, 3

https://dl.doubtnut.com/l/_VaoaorBTzHIH
https://dl.doubtnut.com/l/_NJ2yVlmxFR28
https://dl.doubtnut.com/l/_kSZ3vUAdxgM4


130. If  , then

A.  is continuous at 

B.  is discontinuous at 

C.  is continuous at 

D.  is discontinuous at 

Answer: B

Watch Video Solution

f(x) = {
2x, for x < 0

2x + 1, for x ≥ 0

f(|x|) x = 0

f(x) x = 0

f(x) x = 0

f(|x|) x = 0

131. Function  is a continuous function

A. for x = 2 only

B. for all real values of x

C. for all real values of x such that 

D. for all integral values of x only

f(x) = {
x − 1, x < 2

2x − 3, x ≥ 2

x ≠ 2

https://dl.doubtnut.com/l/_kSZ3vUAdxgM4
https://dl.doubtnut.com/l/_18P6aOe88klN


Answer: B

Watch Video Solution

132. If , then

A. f is continuous on R

B. f is continuous on R - (-5, 4)

C. f is continuous on R - {-5, 4}

D. f is continuous on R - [-5, 4]

Answer: C

Watch Video Solution

f(x) =
x3 − 8

x2 + x − 20

133. If , then on [0, 6]

A. f is continuous except at 

f(x) =
⎧
⎨
⎩

, for 0 ≤ x < 4

, for 4 ≤ x ≤ 6

x2 − 3x + 2

x − 3

x2 − 1

x − 2

x = 2

https://dl.doubtnut.com/l/_18P6aOe88klN
https://dl.doubtnut.com/l/_6RksFGygSYF8
https://dl.doubtnut.com/l/_m9r4TDaipUXc


B. f is continuous except at 

C. f is continuous except at 

D. f is continuous except at 

Answer: D

Watch Video Solution

x = 3

x = 4

x = 3and x = 4

134. If the function 

 


 


is continous at  then 

A. 7

B. 8

C. 6

D. -6

f(x) = k + x, Forx < 1

= 4x + 3, Forx ≥ 1

x = 1 k = …….

https://dl.doubtnut.com/l/_m9r4TDaipUXc
https://dl.doubtnut.com/l/_pyCmFtxx8kAV


Answer: C

Watch Video Solution

135. If  is continuous at , where

 , then 

A. 3

B. -2

C. -1

D. 1

Answer: C

Watch Video Solution

f(x) x = 0

f(x) = {
x2 + 1, for x ≥ 0

2√x2 + 1 + k, for x < 0
k =

https://dl.doubtnut.com/l/_pyCmFtxx8kAV
https://dl.doubtnut.com/l/_UtD7f8uc4oB8


136. If  is continuous at , where

, then 

A. 

B. 

C. 2

D. -2

Answer: B

Watch Video Solution

f(x) x = 0

f(x) = {
k(x2 − 2), for x ≤ 0

4x + 1, for x > 0
k =

1

2

−1

2

137. If  is continuous at  , where  , , 

, . Find  and  given that 

A. 

B. 

f x = 0 f(x) = x2 + α x ≥ 0

f(x) = 2√x2 + 1 + β x < 0 α β f( ) = 2
1

2

α = , β =
−1

4
7
4

α = , β =
−7
4

1

4

https://dl.doubtnut.com/l/_j7tza3kwXnnt
https://dl.doubtnut.com/l/_ji0rZv7wt5ET


C. 

D. 

Answer: D

Watch Video Solution

α = , β =
1

4
−7
4

α = , β =
7
4

−1

4

138. If  


 


 


is continous at  find 

A. 

B. 

C. 

D. 

Answer: C

h id l i

f(x) + α, forx > 3
x2 − 9

x − 3

= 5, forx = 3

= 2x2 + 3x + β, forx < 3

x = 3, α and β.

α = − 1, β = 22

α = 1, β = − 22

α = − 1, β = − 22

α = 1, β = 22

https://dl.doubtnut.com/l/_ji0rZv7wt5ET
https://dl.doubtnut.com/l/_09ipJlmbQIqG


Watch Video Solution

139. If the function  


continuous ,find the values of a and b

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

5,             x ≤ 2

ax + b,   2 < x ≤ 10

21,          x > 10

a = 2, b = 1

a = − 2, b = − 1

a = 2, b = − 1

a = − 2, b = 1

140. If  is continuous at , where ,

then 

A. 2

f(x) x = 1 f(x) = {
kx2, for x ≥ 1

4, for x < 1

k =

https://dl.doubtnut.com/l/_09ipJlmbQIqG
https://dl.doubtnut.com/l/_o3IF4rRdpNCr
https://dl.doubtnut.com/l/_a0TPtRG7ijjC


B. 4

C. -2

D. 

Answer: B

Watch Video Solution

±2

141. If  is continuous on [0, 8] , where

, then

A. 

B. 

C. 

D. 

Answer: A

W h Vid S l i

f(x)

f(x) =
⎧⎪
⎨
⎪⎩

x2 + ax + 6, for 0 ≤ x < 2

3x + 2, for 2 ≤ x ≤ 4

2ax + 5b, for 4 < x ≤ 8

a = − 1, b =
22

5

a = − 1, b =
−8

5

a = − 1, b =
−22

5

a = 1, b =
8

5

https://dl.doubtnut.com/l/_a0TPtRG7ijjC
https://dl.doubtnut.com/l/_2DY1jUCVwSxV


Watch Video Solution

142. If  is continuous in [0, 3], where

, then 

A. 6

B. -14

C. 2

D. -2

Answer: D

Watch Video Solution

f(x)

f(x) = {
3x − 4, for 0 ≤ x ≤ 2

2x + k, for 2 < x ≤ 3
k =

143. If  continuous on its domain, where

, then

A. 

f(x)

f(x) =
⎧⎪
⎨
⎪⎩

6, for x ≤ 2

ax + b, for 2 < x < 10

22, for x ≥ 10

a = 3, b = 1

https://dl.doubtnut.com/l/_2DY1jUCVwSxV
https://dl.doubtnut.com/l/_bWx4X0feVdEj
https://dl.doubtnut.com/l/_wZVaFZrG94rj


B. 

C. 

D. 

Answer: D

Watch Video Solution

a = 2, b = − 1

a = 3, b = − 1

a = 2, b = 2

144. If f (x) is continuous on  defined as 


 


 


find the value of 

A. 

B. 

C. 

D. 

0 − 4, 2],

f(x) = 6b − 3ax, for − 4 ≤ x < − 2

= 4x + 1,  for − 2 ≤ x ≤ 2,

a + b.

7
6

−7
6

9

2

−9

2

https://dl.doubtnut.com/l/_wZVaFZrG94rj
https://dl.doubtnut.com/l/_xFzqyPhxvCc3


Answer: B

Watch Video Solution

145. If f(x) is continuous at x=3, then  


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = ax + 1,        for x ≤ 3

= bx + 3,     for x >  3 then 

a + b =
2

3

a + b =
−2

3

a − b =
2

3

a − b =
−2

3

https://dl.doubtnut.com/l/_xFzqyPhxvCc3
https://dl.doubtnut.com/l/_BcU6KQDxVGoq


146. If  is continuous in [-2, 2], where ,

then 

A. 0

B. -2

C. 

D. 2

Answer: D

Watch Video Solution

f(x) f(x) =
⎧⎪
⎨
⎪⎩

x + a, for x < 0

x, for 0 ≤ x < 1

b − x, for x ≥ 1

a + b =

±2

147. If  for 

 is continuous at 

then 

A. -1

f(x) = {
√1 + kx − √1 − kx

x

1 ≤ x < 0 and 2x2 + 3x − 2f or 0 ≤ x ≤ 1 x − 0

k

https://dl.doubtnut.com/l/_dPCIvwrPs4aJ
https://dl.doubtnut.com/l/_tl1ApFZxggyl


B. -2

C. -3

D. -4

Answer: B

Watch Video Solution

148. If the function  given by 


 is continuous at x = 1, then a is equal to

A. 2

B. 1

C. 4

D. 3

Answer: B

Watch Video Solution

f : R → R

f(x) = {
x + a, if x ≤ 1

3 − x2, if x > 1

https://dl.doubtnut.com/l/_tl1ApFZxggyl
https://dl.doubtnut.com/l/_GAlbgMF7TZUu


149. If  is continuous at  , then

the most suitable values of a, b are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

ax2 − b, for 0 ≤ x < 1

2, for x = 1

x + 1, for 1 < x ≤ 2

x = 1

a = 2, b = − 2

a = − 1, b = − 1

a = 1, b = 1

a = 1, b = − 1

150. If the derivative of the function

 is everywhere

continuous, then-

A. 

f(x) = {ax2 + b, x < − 1 and bx2 + ax + 4, x ≤ − 1

a = 3, b = 2

https://dl.doubtnut.com/l/_GAlbgMF7TZUu
https://dl.doubtnut.com/l/_I31FoGjsCStS
https://dl.doubtnut.com/l/_J8dmJEPrADBG


B. 

C. 

D. 

Answer: B

Watch Video Solution

a = 2, b = 3

a = − 2, b = − 3

a = − 3, b = − 2

151. If  is continuous at , where ,

then 

A. -1

B. 1

C. -6

D. 6

Answer: A

Watch Video Solution

f(x) x = 2 f(x) = {
4x − 3, for x < 2

kx + 7, for x > 2

k =

https://dl.doubtnut.com/l/_J8dmJEPrADBG
https://dl.doubtnut.com/l/_z4uPX3PNJYRi


152. If  is continuous at , where

, then 

A. 2

B. 0

C. 4

D. 8

Answer: D

Watch Video Solution

f(x) x = 0

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

, for x < 0

k, for x = 0

, for x > 0

1 − cos 4x

x2

√x

√16 + √x − 4

k =

153. If  is continuous at , where

, then

f(x) x = 0

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

+ a, for x > 0

x + 4 − b, for x < 0

1, for x = 0

sin 4x

5x

https://dl.doubtnut.com/l/_z4uPX3PNJYRi
https://dl.doubtnut.com/l/_SV82j4iyIkit
https://dl.doubtnut.com/l/_JQGhK6BlpHEY


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a = , b = 3
1

5

a = , b = − 3
−1

5

a = , b = − 3
1

5

a = , b = 3
−1

5

154. If  


 

 

is continuous at x =1 , find a and b

A. 

B. 

C. 

D. 

f(x) = + a,  for x < 1
sin πx

x − 1

= 2π,  for x = 1

= (1 − x)2 + b,  forx > 1
1 + cos πx

π

a = π, b =
3π

2

a = 3π, b =
3π

2

a = π, b =
5π

2

a = 3π, b =
5π

2

https://dl.doubtnut.com/l/_JQGhK6BlpHEY
https://dl.doubtnut.com/l/_7AOF4tZPk5am


Answer: B

Watch Video Solution

155. Let  If f(x) and f'(x) are

continuous, then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = {
sin 2x 0 < x ≤ xπ /6

ax + b π /6 < x < 1

a = − 2, b = +
√3

2

π

3

a = 2, b = −
√3

2

π

3

a = − 1, b = +
√3

2

π

6

a = 1, b = −
√3

2

π

6

https://dl.doubtnut.com/l/_7AOF4tZPk5am
https://dl.doubtnut.com/l/_XbsCV9OjmOI4


156. Determine the values of 
 for which the function


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a, b, c

f(x) = { , f or x < 0 , f or x > 0is
sin(a + 1)x + sin x

xc, f ⊗ = 0

√x + bx2 − √x

bx
3
2

a = − 2, b = 0, c = 0

a = − 2, b = R, c = 0

a = − 2, b ≠ 0, c = 0

a = − 2, b = 0, c ≠ 0

157. Determine the values of 
 for which the function


A. 

B. 

a, b, c

f(x) = { , f or x < 0 , f or x > 0is
sin(a + 1)x + sin x

xc, f ⊗ = 0

√x + bx2 − √x

bx
3
2

a = − 2, b = R, c = 0

a = − 2, b ≠ 0, c = 0

https://dl.doubtnut.com/l/_it2DlwCJY6zu
https://dl.doubtnut.com/l/_nTjj0lS1OrL7


C. 

D. 

Answer: D

Watch Video Solution

a = , b = R, c =
−3

2

1

2

a = , b = R − {0}, c =
−3

2

1

2

158. If  is continuous on [-2, 2], where

, then 

A. -15

B. 0

C. 2

D. -2

Answer: D

Watch Video Solution

f(x)

f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

+ 2, for − 2 ≤ x < 0

3x + 5, for 0 ≤ x ≤ 1

√x2 + 8 − b, for 1 < x < 2

sin ax

x

a + b =

https://dl.doubtnut.com/l/_nTjj0lS1OrL7
https://dl.doubtnut.com/l/_IwpEqXF0aHua


159. Find the values of a and b so that the function 

 


is continuous for .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

x + a√2 sin x,          0 ≤ x ≤ π /4

2x cot x + b,           π /4 ≤ x ≤ π /2

a cot 2x − b sin x,    π /2 < x ≤ π

0 ≤ x ≤ π

a = , b =
−π

6

π

12

a = , b =
π

6

−π

12

a = , b =
−π

6

−π

12

a = , b =
π

6

π

12

160. Let . If f is continuous

on , then find the values of a and b.

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

−2 sin x for −π ≤ x ≤ −

a sin x + b for − < x <

cos x for ≤ x ≤ π

π

2
π

2
π

2
π

2

[ − π, π)

https://dl.doubtnut.com/l/_7CJQf8tPn5MS
https://dl.doubtnut.com/l/_WjNsujhit1cr


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α = 1, β = 1

α = − 1, β = − 1

α = − 1, β = 1

α = 1, β = − 1

161. If the function f(x) is continuous in the interval  find the

values of a and b where 

A. 3

B. 1

C. 4

D. 2

[ − 2, 2].

f(x) = − 2   ,for −2 ≤ x < 0

= 2x + 1    ,for 0 ≤ x ≤ 1

= 2b√x2 + 3 − 1    ,for 1 < x ≤ 2

sin x

x

https://dl.doubtnut.com/l/_WjNsujhit1cr
https://dl.doubtnut.com/l/_NtVHVcel9Dk5


Answer: C

Watch Video Solution

162. If  is continuous in , where

, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) ( − ∞, 6)

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

1 + sin( ), for − ∞ < x ≤ 1

ax + b, for 1 < x < 3

6 tan( ), for 3 ≤ x < 6

πx

2

πx

12

a = 2, b = 0

a = 0, b = 2

a = 1, b = 1

a = 2, b = 1

https://dl.doubtnut.com/l/_NtVHVcel9Dk5
https://dl.doubtnut.com/l/_EddVvj7vo6ww


163. If  is continuous, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = {
ax + 1, x ≤

sin x + b, x >

π

2
π

2

= b
aπ

2

= aa

bπ

2

a = b =
π

2

a = b = + 1
π

2

164. If , then f is

A. continuous at 

B. discontinuous at 

C. continuous if 

D. discontinuous if 

f(x) =
⎧⎪
⎨
⎪⎩

, for x ≠ 0

1, for x = 0

e − 1
1
x

e + 1
1
x

x = 0

x = 0

f(0) = − 1

f(0) = − 1

https://dl.doubtnut.com/l/_3PGroCOk0vFp
https://dl.doubtnut.com/l/_2KNytxfoyC0W


Answer: B

Watch Video Solution

165. If  is continuous at , where , then

A. 1

B. 0

C. -1

D. does not exists

Answer: D

Watch Video Solution

f(x) x = 0 f(x)
⎧
⎨⎩

, for x ≠ 0

k, for x = 0

1

1 + e
1
x

k =

166. The function  at every  isf(x) = k(k ∈ R) x ∈ R

https://dl.doubtnut.com/l/_2KNytxfoyC0W
https://dl.doubtnut.com/l/_NQLSU7bXch0O
https://dl.doubtnut.com/l/_D5kSzi5An0Uw


A. continuous on 

B. continuous on R

C. discontinuous on 

D. discontinuous on R

Answer: B

Watch Video Solution

R +

R +

167. The composition of two continuous functions is a continuous

function.

A. discontinuous

B. continuous

C. continuous for some real numbers

D. discontinuous for some real numbers

Answer: B

https://dl.doubtnut.com/l/_D5kSzi5An0Uw
https://dl.doubtnut.com/l/_EPjG53Lp51HU


Watch Video Solution

168. If , then f is

A. discontinuous for all 

B. continuous for all 

C. continuous for all 

D. continuous for all 

Answer: D

View Text Solution

f(x) = sin x

x ∈ R

x ∈ R +

x ∈ R −

x ∈ R

169. If , then f is

A. continuous for all 

B. discontinuous for all 

C. continuous for only 

f(x) = sin x2

x ∈ R

x ∈ R

x ∈ R +

https://dl.doubtnut.com/l/_EPjG53Lp51HU
https://dl.doubtnut.com/l/_UJRvhLL1Q9Qw
https://dl.doubtnut.com/l/_mb9AdO1IbNw5


D. continuous for only 

Answer: A

Watch Video Solution

x ∈ R −

170. If , then f is

A. continuous for all 

B. continuous for all 

C. continuous for all 

D. discontinuous for all 

Answer: C

Watch Video Solution

f(x) = ax, a > 0

x ∈ R +

x ∈ R −

x ∈ R

x ∈ R

171. Discuss the continuity of the function  where logc x, c > 0, x > 0.

https://dl.doubtnut.com/l/_mb9AdO1IbNw5
https://dl.doubtnut.com/l/_JmjlZPmXfrLy
https://dl.doubtnut.com/l/_CrfWed2OHSRa


A. continuous in 

B. continuous in 

C. discontinuous in 

D. discontinuous in 

Answer: B

Watch Video Solution

( − ∞, ∞)

(0, ∞)

( − ∞, ∞)

(0, ∞)

172. The rational function  is

A. continuous

B. discontinuous for integer values only

C. continuous for integer values only

D. continuous for imaginary values only

Answer: A

Watch Video Solution

f(x) = , h(x) ≠ 0
g(x)

h(x)

https://dl.doubtnut.com/l/_CrfWed2OHSRa
https://dl.doubtnut.com/l/_G9DYqL3mXcHA


173. The function  is

A. continuous on R

B. discontinuous on R

C. continuous on only 

D. discontinuous only 

Answer: A

Watch Video Solution

f(x) = |x|

R +

R +

174. The function  is

A. continuous on R

B. discontinuous on R

C. continuous on only 

f(x) = [cos x]

R +

https://dl.doubtnut.com/l/_G9DYqL3mXcHA
https://dl.doubtnut.com/l/_yIHpor7tcC3v
https://dl.doubtnut.com/l/_Ds1iLG1BTpKH


D. discontinuous only 

Answer: A

Watch Video Solution

R +

175. If , then at 

A. discontinuous

B. continuous

C. 

D. 

Answer: B

Watch Video Solution

f(x) = |x| x = 0

lim
x → 0

f(x) = 1

lim
x → 0

f(x) = − 1

https://dl.doubtnut.com/l/_Ds1iLG1BTpKH
https://dl.doubtnut.com/l/_3RH1i13v9701


176. If  is continuous at , where  ,

then 

A. 1

B. 0

C. -1

D. does not exist

Answer: B

Watch Video Solution

f(x) x = 3 f(x) = {
|x − 3|, for x ≠ 3

k, for x = 3

k =

177. If , where [x] is the greatest integer not greater than x, in

(-4, 4), then  is

A. discontinuous at , only in (-4, 4)

B. continuous at  only in (-4,4)

C. discontinuous at every integral point of (-4,4)

f(x) = [x]

f(x)

x = 0

x = 0

https://dl.doubtnut.com/l/_RQIqWQxEkJaG
https://dl.doubtnut.com/l/_WsCFwGsAOoUI


D. continuous at every integral point of (-4,4)

Answer: C

Watch Video Solution

178. If , then f is

A. discontinuous for all 

B. continuous for all 

C. continuous for all 

D. continuous for all 

Answer: B

Watch Video Solution

f(x) = |(1 + x)|x ∣ ∣

x ∈ R

x ∈ R

x ∈ R +

x ∈ R −

179. If , then in [-1, 2]f(x) = |x| + |x − 1|

https://dl.doubtnut.com/l/_WsCFwGsAOoUI
https://dl.doubtnut.com/l/_uUm3r6iQt4d8
https://dl.doubtnut.com/l/_BEimbEE2xJ30


A. f is continuous except at 

B. f is continuous except at 

C. f is continuous

D. f is discontinuous

Answer: C

Watch Video Solution

x = 0

x = 1

180. The function  is continuous for

A. only 

B. 

C. 

D. no values of x

Answer: C

Watch Video Solution

f(x) = x + |x|

x > 0

x ∈ ( − ∞, ∞) − {0}

x ∈ ( − ∞, ∞)

https://dl.doubtnut.com/l/_BEimbEE2xJ30
https://dl.doubtnut.com/l/_fmNIkUCOVGHA


181. The function  is

A. continuous for all 

B. continuous for all 

C. continuous for all 

D. discontinuous for all 

Answer: C

Watch Video Solution

f(x) = |x| ∀x ∈ R

x ∈ R −

x ∈ R +

x ∈ R

x ∈ R

182. If , then at 

A. f is continuous

B. f is discontinuous

C. 

f(x) = 2x − |x| x = 0

lim
x → 0 −

f(x) = 3

https://dl.doubtnut.com/l/_fmNIkUCOVGHA
https://dl.doubtnut.com/l/_EWqldOXaZ4Li
https://dl.doubtnut.com/l/_2oaEmxVjFbGt


D. 

Answer: A

Watch Video Solution

lim
x → 0 +

f(x) = 1

183. If , then f is

A. continuous at 

B. discontinuous at 

C. continuous if 

D. continuous if 

Answer: B

Watch Video Solution

f(x) = {
, for x ≠ 0

c, for x = 0

x

|x |

x = 0

x = 0

f(0) = 1

f(0) = − 1

184. If , thenf(x) = {
, for x ≠ 0

1, for x = 0

|x |
x

https://dl.doubtnut.com/l/_2oaEmxVjFbGt
https://dl.doubtnut.com/l/_etdqSgfCDmBX
https://dl.doubtnut.com/l/_ZCU9LY8QRbay


A. 

B. 

C. f is discontinuous at origin

D. f is continuous at origin

Answer: C

View Text Solution

lim
x → 1 −

f(x) = 1

lim
x → 1 +

f(x) = − 1

185. If  is defined bu  for , then 

A. 0

B. -1

C. -2

D. 1

Answer: A

f : R → R f(x) = [x − 3] + |x − 4| x ∈ R

lim
x → 3 −

f(x) =

https://dl.doubtnut.com/l/_ZCU9LY8QRbay
https://dl.doubtnut.com/l/_DJ1hdco41Rd6


Watch Video Solution

186. If  is continuous at , where ,

then 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

f(x) =
⎧
⎨
⎩

, for x ≠

k, for x =

cot x − cos x

( π − 2x ) 3

π

2

π

2

x =
π

2

k =

1

4

1

24

1

16

187. If  for  for x=0 is continuous at x=0, then

K is

A. 

f(x) = log(sec2 x)
cot 2

x ≠ 0

e − 1

https://dl.doubtnut.com/l/_DJ1hdco41Rd6
https://dl.doubtnut.com/l/_osflftq95q78
https://dl.doubtnut.com/l/_t73vHQ5Mo5ou


B. 1

C. e

D. 0

Answer: B

Watch Video Solution

188. The function  is discontinuous for

A.  only

B.  only

C.  and other values of x

D.  only

Answer: D

Watch Video Solution

f(x) =
2x2 + 7

x3 + 3x2 − x − 3

x = 1

x = 1, − 1

x = 1, − 1, − 3

x = 1, − 1, − 3

https://dl.doubtnut.com/l/_t73vHQ5Mo5ou
https://dl.doubtnut.com/l/_h8q9FVaPvEXB
https://dl.doubtnut.com/l/_KQPHj72EdIpL


189. If f(u)  , where  , then the points of

discontinuity of f are x = …..

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

=
1

u2 + u − 2
u =

1

x − 1

x = 2,
1

2

x = 1, 2,
1

2

x = 2,
−1

2

z = 1, 2,
−1

2

190. If  is continuous at , where ,for 

, then 

A. -1

B. 1

C. 

f(x) x = 3 f(x) =
x2 − 7x + 12

x2 − 5x + 6

x ≠ 3 f(3) =

1

5

https://dl.doubtnut.com/l/_KQPHj72EdIpL
https://dl.doubtnut.com/l/_UA2bBPfYoiia


D. 

Answer: A

Watch Video Solution

7
5

191. If  is continuous for all x, where 

, then 

A. 7

B. -7

C. 

D. 14

Answer: A

Watch Video Solution

f(x) f(x) =
⎧
⎨⎩

, for x ≠ 2

k, forx = 2

x2 − 7x + 12

( x − 2 ) 2

k =

±7

https://dl.doubtnut.com/l/_UA2bBPfYoiia
https://dl.doubtnut.com/l/_nSqiqAyzBARi


192. If  is continuous at , where

, then 

A. 2

B. -1

C. 1

D. 0

Answer: D

Watch Video Solution

f(x) x = 2

f(x) = {
, for x ≠ 2

2, for x = 2

x2 − ( a + 2 ) x + a

x − 2 a =

193. If  is continuous at , where ,

for , then 

A. 

B. 

f(x) x = 2 f(x) =
(x2 − x − 2)

20

(x3 − 12x + 16)10

x ≠ 2 f(2) =

320

210

310

220

https://dl.doubtnut.com/l/_JxbX1zG7OrQH
https://dl.doubtnut.com/l/_3MQt0sXqkjNT


C. 

D. 

Answer: C

Watch Video Solution

( )
10

3
2

( )
203

2

194. If  is continuous at , where

, for , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = − 2

f(x) = + −
2

x + 2

1

x2 − 2x + 4

24

x3 + 8
x ≠ − 2

f( − 2) =

−1

4

1

4

11

12

−11

12

https://dl.doubtnut.com/l/_3MQt0sXqkjNT
https://dl.doubtnut.com/l/_tIRSQsMyTzNn


195. If  is continuous at , where , for ,

then 

A. 

B. 

C. n

D. 

Answer: C

Watch Video Solution

f(x) x = 1 f(x) =
xn − 1
x − 1

x ≠ 1

f(1) =

1

n

1

n(n − 1)

n(n − 1)

196. If  is continuous at , where

, for , then 

A. 

f(x) x = 1

f(x) = ( )
x + 3x2 + 5x3 + ... + (2n − 1)xn − n2

x − 1
x ≠ 1

f(1) =

n(n + 1)(2n − 1)

6

https://dl.doubtnut.com/l/_tIRSQsMyTzNn
https://dl.doubtnut.com/l/_iGHT7YYwvrZv
https://dl.doubtnut.com/l/_PPQGCngqpJmL


B. 

C. 

D. 

Answer: C

Watch Video Solution

n(n + 1)(2n − 1)

3

n(n + 1)(4n − 1)

6

n(n + 1)(4n − 1)

3

197. If  is continuous at , where 

, then 

A. 0

B. 3

C. -6

D. 

Answer: A

Watch Video Solution

f(x) x = 3 f(x) = {
, forx ≠ 3

2x + k , otherwise

x2 − 9

x − 3

k =

1

6

https://dl.doubtnut.com/l/_PPQGCngqpJmL
https://dl.doubtnut.com/l/_bzN9T0Ixiv6c


198. If  is continuous at , where

 , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) x = 16

f(x) =
⎧
⎨
⎩

, forx ≠ 16

k, forx = 16

x8 − ( 256 ) 4

x4 − ( 16 ) 4 k =

(16)4

2(16)4

4(16)4

3(16)4

199. If  is continuous at  , where ,

for  then 

A. -2

f(x) x = 0 f(x) =
(27 − 2x) − 3

1
3

9 − 3(243 + 5x)
1
5

x ≠ 0 f(0) =

https://dl.doubtnut.com/l/_bzN9T0Ixiv6c
https://dl.doubtnut.com/l/_CkDOkuESEK8b
https://dl.doubtnut.com/l/_eo0Mk7a4RT1C


B. 2

C. 

D. 

Answer: B

Watch Video Solution

−2

3

2

3

200. If  is continuous at , where ,

for , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
√1 + x − 3√1 + x

x

x ≠ 0 f(0) =

1

3

1

2

5

6

1

6

https://dl.doubtnut.com/l/_eo0Mk7a4RT1C
https://dl.doubtnut.com/l/_JaoRqpdlcdOM


201. If  is continuous at , where , for 

, then 

A. 120

B. 240

C. 120

D. -240

Answer: B

Watch Video Solution

f(x) x = 4 f(x) =
x4 − 64x

√x2 + 9 − 5

x ≠ 4 f(4) =

202. If  is continuous at 

 then 

A. 

B. 

f(x) =
√a2 − ax + x2 − √a2 + ax + x2

√a + x − √a − x

x = 0 f(0)

−a√a

a√a

https://dl.doubtnut.com/l/_JaoRqpdlcdOM
https://dl.doubtnut.com/l/_yiazERPANPrq
https://dl.doubtnut.com/l/_PbkvuYzub1x8


C. 

D. 

Answer: C

Watch Video Solution

−√a

√a

203. If  is continuous at , where 

, for , then 

A. 

B. 2a

C. 

D. 

Answer: C

Watch Video Solution

f(x) x = 2a

f(x) =
√x − √2a + √x − 2a

√x2 − 4a2
x ≠ 2a f(2a) =

2√a

1

2√a

1

2a

https://dl.doubtnut.com/l/_PbkvuYzub1x8
https://dl.doubtnut.com/l/_e8r6PxOfBLIC
https://dl.doubtnut.com/l/_cd3kT6Mypkx4


204. If  is continuous at , where 

, for , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x = √2

f(x) =
√3 + 2x − (√2 + 1)

x2 − 2
x ≠ √2 f(√2) =

1

2(2 + √2)

1

√2(2 + √2)

1

2 + √2

1

2 + 2√2

205. If  is continuous at , where ,

for , then 

A. 

B. 

f(x) x = 5 f(x) =
√3 + √4 + x − √6

x − 5

x ≠ 5 f(5) =

1

2√6

1

3√6

https://dl.doubtnut.com/l/_cd3kT6Mypkx4
https://dl.doubtnut.com/l/_AUnyeahkY22T


C. 

D. 

Answer: D

Watch Video Solution

1

6√6

1

12√6

206. If  is continuous at , where , for 

, then 

A. 2

B. 0

C. -1

D. 1

Answer: C

Watch Video Solution

f(x) x = 0 f(x) = sin x − cos x

x ≠ 0 f(0) =

https://dl.doubtnut.com/l/_AUnyeahkY22T
https://dl.doubtnut.com/l/_44kkBvFlh5aQ
https://dl.doubtnut.com/l/_mkrciySyuTle


207. If  is continuous at , where ,

for , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) x =
π

2
f(x) =

√2 − √1 + sin x

cos2 x

x ≠
π

2
f( ) =

π

2

4√2

2√2

1

4√2

1

2√2

208. If  is continuous at , where , for 

, then 

A. 2

B. 

C. 

f(x) x =
π

4
f(x) =

1 − tan x

1 − √2 sin x

x ≠
π

4
f( ) =

π

4

√2

2√2

https://dl.doubtnut.com/l/_mkrciySyuTle
https://dl.doubtnut.com/l/_Ekz1QUf8yGyW


D. 

Answer: A

Watch Video Solution

1

√2

209. If  is continuous at , where , for 

, then 

A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
sin(π cos2 x)

x2

x ≠ 0 f(0) =

π

2

−π

π

https://dl.doubtnut.com/l/_Ekz1QUf8yGyW
https://dl.doubtnut.com/l/_v2HP5IRrHlu5


210. If  is continuous at  where 

 ,for  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x =
π

4

f(x) =
2√2 − (cos x + sin x)

3

1 − sin 2x
x ≠

π

4
f( ) =

π

4

3

√2
√2

3

1

√2

3√2

211. If  is continuous at , where

, then 

A. 

B. 

f(x) θ =
π

4

f(θ) =
⎧
⎨
⎩

, for θ ≠

, for θ =

1 − tan θ

1 − √2 sin θ

π

4

k

2
π

4

k =

2√2

4√2

https://dl.doubtnut.com/l/_TYSnOXqYuf3A
https://dl.doubtnut.com/l/_6KJdVRD4XOzm


C. 2

D. 4

Answer: D

Watch Video Solution

212. The function  is not defined at . The

value of , so that f(x) is continuous at , is

A. -1

B. 1

C. 

D. 

Answer: A

Watch Video Solution

f(x) =
1 − sin x + cos x

1 + sin x + cos x
x = π

f(π) x = π

−1

2

1

2

https://dl.doubtnut.com/l/_6KJdVRD4XOzm
https://dl.doubtnut.com/l/_BIgpIihYkvzV
https://dl.doubtnut.com/l/_RmsZbVnxTELq


213. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x =
π

2
f(x) =

cos x

√1 − sin x

x ≠
π

2
f( ) =

π

2

1

2√2

1

√2

2√2

√2

214. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

f(x) x =
π

4
f(x) =

cos x − sin x

cos 2x

x ≠
π

4
f( ) =

π

4

1

√2

−1

√2

√2

https://dl.doubtnut.com/l/_RmsZbVnxTELq
https://dl.doubtnut.com/l/_zpSMDvslh3jt


D. 

Answer: A

Watch Video Solution

−√2

215. If  is continuous at , where , for 

, then 

A. 4

B. -4

C. 2

D. -2

Answer: D

Watch Video Solution

f(x) x =
π

4
f(x) =

2 − cos ec2x

cot x − 1

x ≠
π

4
f( ) =

π

4

https://dl.doubtnut.com/l/_zpSMDvslh3jt
https://dl.doubtnut.com/l/_3hy5YqtFHtf6


216. If  is continuous at , where , for 

, then 

A. -1

B. 1

C. 0

D. 2

Answer: A

Watch Video Solution

f(x) x = 0 f(x) =
sin(x2 − x)

x

x ≠ 0 f(0) =

217. If  is continuous at , where

, then 

A. 2

B. -2

f(x) x = 0

f(x) = {
, for x ≠ 0

k2, for x = 0

x cos x + 3 tan x

x2 + sin x k =

https://dl.doubtnut.com/l/_mfiR5dTl1fCM
https://dl.doubtnut.com/l/_tTsvXQbhrN7F


C. 

D. 0

Answer: C

Watch Video Solution

±2

218. If  is continuous at , where 

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0

f(x) = , x ≠ 0
sin(a + x) − sin(a − x)

tan(a + x) − tan(a − x)
f(0) =

2 sec3 a

sec3 a

2 cos3 a

cos3 a

https://dl.doubtnut.com/l/_tTsvXQbhrN7F
https://dl.doubtnut.com/l/_hd3ScqrzYdSH
https://dl.doubtnut.com/l/_zlmTPvumotDR


219.  is defined by 

and  is continuous at  then 

A. -4

B. -2

C. -8

D. -6

Answer: A

Watch Video Solution

f : R → R f(x) = { , x ≠ 0λ, x = 0
cos 3x − cos x

x2

f x = 0; λ =

220. If  is continuous at , where ,

then 

A. 

B. 

C. 

f(x) x = 0 f(x) = {
, for x ≠ 0

k, forx = 0

1 − cos x

x

k =

1

2

−1

2

1

4

https://dl.doubtnut.com/l/_zlmTPvumotDR
https://dl.doubtnut.com/l/_dlOiYxBQtbTV


D. 0

Answer: D

Watch Video Solution

221. If  is continuous at , where 

, then 

A. 1

B. -1

C. 

D. 0

Answer: C

Watch Video Solution

f(x) x = 0 f(x) =
⎧
⎨⎩

, for x ≠ 0

, for x = 0

1 − cos kx

x2

1
2

k =

±1

https://dl.doubtnut.com/l/_dlOiYxBQtbTV
https://dl.doubtnut.com/l/_g17ZcbV5txBe


222. If  is continuous at , where  for ,

then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) x = 0 f(x) =
1 − cos 3x

x tan x
x ≠ 0

f(0) =

3

2

9

2

3

4

9

4

223. Function  , and f(x) = k,

where x = 0 , is a continuous function at x = 0 Then : k =

A. 16

B. 2

C. -1

f(x) = (1 − cos 4x) /(8x2),  where x ≠ 0

https://dl.doubtnut.com/l/_SyMJsiJwqcR9
https://dl.doubtnut.com/l/_894BYcEpRatb


D. 1

Answer: D

Watch Video Solution

224. If  is continuous at , where 

, for , then 

A. 2

B. 

C. 4

D. 3

Answer: A

Watch Video Solution

f(x) = x = 0

f(x) =
(1 − cos 2x)(3 + cos x)

x tan 4x
x ≠ 0 f(0) =

1

2

https://dl.doubtnut.com/l/_894BYcEpRatb
https://dl.doubtnut.com/l/_6qq3ZDf2oyF4


225. If  are the roots of  and  is continuous at 

, where , for , then 

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

α, β ax2 + bx + c = 0 f(x)

x = α f(x) =
1 − cos(ax2 + bx + c)

(x − α)2
x ≠ α f(α) =

4ac − b2

2

b2 − 4ac

2

b2 − 4ac

2a2

226. If  is continuous at , where

, then 

A. -2

B. -4

f(x) x = 0

f(x) =
⎧
⎨⎩

, for x ≠ 0

2k, for x = 0

cos2 x − sin2 x − 1

√x2 + 1 − 1 k =

https://dl.doubtnut.com/l/_ztBJZTYr9pYe
https://dl.doubtnut.com/l/_sxonH5H94aPU


C. 2

D. 4

Answer: A

Watch Video Solution

227. If  is continuous at , where

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = a

f(x) = , for x ≠ a
sin(a + x) + sin(a − x) − 2 sin a

x sin x
f(a) =

(1 − cos a)
1

a

(cos a − 1)
1

a

(1 − cos a)
2

a

(cos a − 1)
2

a

https://dl.doubtnut.com/l/_sxonH5H94aPU
https://dl.doubtnut.com/l/_mQQxhwfjCMyy
https://dl.doubtnut.com/l/_tQD95kyhb4EG


228. If  is continuous at , where ,

for , then 

A. 0

B. 2

C. -2

D. 4

Answer: A

Watch Video Solution

f(x) x = 0 f(x) =
3 − 4 cos x + cos 2x

x2

x ≠ 0 f(0) =

229. If  is continuous at , where ,

for , then 

A. 

B. 

C. 8

f(x) x = 0 f(x) =
3 − 4 cos x + cos 2x

x4

x ≠ 0 f(0) =

1

4

1

2

https://dl.doubtnut.com/l/_tQD95kyhb4EG
https://dl.doubtnut.com/l/_fRnLn9n7QXiY


D. 4

Answer: B

Watch Video Solution

230. The value of k which makes 

continuous at  is

A. 0

B. 1

C. -1

D. no value of k

Answer: D

Watch Video Solution

f(x) =
⎧
⎨⎩

sin( ), for x ≠ 0

k, for x = 0

1
x

x = 0

https://dl.doubtnut.com/l/_fRnLn9n7QXiY
https://dl.doubtnut.com/l/_6H2NFMMMrPHp


231. If the function f(x) defined by 

 


is continuous at x = 0, then k is equal to

A. 0

B. 1

C. -1

D. 

Answer: A

Watch Video Solution

f(x) = {
xsin , for x ≠ 0

k, for x = 0

1
x

1

2

232. If  is continuous at , where ,

for , then 

A. 1

B. -1

f(x) x = a f(x) = (x − a)sin( )
1

x − a

x ≠ a f(a) =

https://dl.doubtnut.com/l/_V6h03Svl9UOV
https://dl.doubtnut.com/l/_CrlkACYESItQ


C. 0

D. 

Answer: C

Watch Video Solution

∞

233. If  is continous at 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x) = , forx ≠
1 − √3 tan x

π − 6x

π

6

x = , find f( ).
π

6

π

6

1

3√3

1

2√3

2

3√3

4

3√3

https://dl.doubtnut.com/l/_CrlkACYESItQ
https://dl.doubtnut.com/l/_O5hpxYFpFVpQ
https://dl.doubtnut.com/l/_LkemtlqI3ChV


234. Value of f  so that the function f(x)  is

continuous everywhere is

A. 2

B. 1

C. 

D. 

Answer: C

Watch Video Solution

( )
π

4
= , x ≠

tan( − x)π

4

cot 2x

π

4

1

2

1

4

235. Find the value of k, if the functions are continuous at the points

given against them : 

A. 

f(x) = , forx ≠

= k, forx =

⎫
⎬⎭atx = .

√3 − tan x

π − 3x

π

3
π

3

π

3

−2

3

https://dl.doubtnut.com/l/_LkemtlqI3ChV
https://dl.doubtnut.com/l/_VOuUa6NXlCIR


B. 

C. 

D. 

Answer: D

Watch Video Solution

2

3

−4
3

4
3

236. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x =
π

2
f(x) =

1 − sin x

( − x)
2

π

2

x ≠
π

2
f( ) =

π

2

1

2

−1

2

π

2

−π

2

https://dl.doubtnut.com/l/_VOuUa6NXlCIR
https://dl.doubtnut.com/l/_R1DCgEt5CSyH


237. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x =
π

2
f(x) =

1 − sin x

(π − 2x)
2

x ≠
π

2
f( ) =

π

2

−1

4

−1

8

1

4

1

8

238. If  is continuous at , where

,then 

A. -1

f(x) x =
π

2

f(x) = {
, for x ≠

λ, for x =

1 − sin x

π − 2x

π

2
π

2

λ =

https://dl.doubtnut.com/l/_R1DCgEt5CSyH
https://dl.doubtnut.com/l/_LSBHOTfo4hz1
https://dl.doubtnut.com/l/_uGKnDRhCN2Pb


B. 1

C. 0

D. 2

Answer: C

Watch Video Solution

239. For what value of k, function  is

continuous at ?

A. 3

B. -3

C. 6

D. -6

Answer: C

Watch Video Solution

f(x) = {
, if x ≠

3, if x =

k cos x

π − 2x

π

2
π

2

x =
π

2

https://dl.doubtnut.com/l/_uGKnDRhCN2Pb
https://dl.doubtnut.com/l/_987eobY2yyRr


240. If  is contiuous at , where

, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) x =
π

2

f(x) = , for x ≠
sec x − tan x

− x
π

2

π

2
f( ) =

π

2

1

4

1
2

1

6

1

8

241. If  is continuous at , where

, then 

A. 

f(x) x = π

f(x) = , for x ≠ π
√2 + cos x − 1

(π − x)
2

f(π) =

1

4

https://dl.doubtnut.com/l/_987eobY2yyRr
https://dl.doubtnut.com/l/_T6n7lEJYSoB4
https://dl.doubtnut.com/l/_MAsPJ6ADx4hI


B. 

C. 

D. 

Answer: A

Watch Video Solution

−1

4

1

2

−1

2

242. If  is continuous at , where ,

for , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) x = π f(x) =
1 − cos(7(x − π))

5(x − π)2

x ≠ π f(π) =

49
5

49
10

7
2

7
10

https://dl.doubtnut.com/l/_MAsPJ6ADx4hI
https://dl.doubtnut.com/l/_eYkqscH7mFIL


243. If  is continuous at , where ,

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x = 0 f(x) = (1 + 2x) , for x ≠ 0
1
x

f(0) =

e2

e − 2

2e

−2e

244. If  is continuous at , where

, then 

A. 

B. 

f(x) x = 0

f(x) = { (1 + 3x) , for x ≠ 0

k, for x = 0

1
x

k =

e − 3

e3

https://dl.doubtnut.com/l/_eYkqscH7mFIL
https://dl.doubtnut.com/l/_1LB05bT3Sq1m
https://dl.doubtnut.com/l/_Glmc8vZrwVe7


C. 

D. e

Answer: B

Watch Video Solution

3e

245. If  is continuous at , where

, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) x = 0

f(x) = ( ) , for x ≠ 0
4 − 3x

4

8
x

f(0) =

e − 3

e − 4

e − 6

e − 12

https://dl.doubtnut.com/l/_Glmc8vZrwVe7
https://dl.doubtnut.com/l/_WcVkQh0gMv25
https://dl.doubtnut.com/l/_eUU0upXjh5Tp


246. If , then at 

A. f is continuous if 

B. f is continuous

C. f has removable discontinuity

D. f has irremovable discontinuity

Answer: C

Watch Video Solution

f(x) = {
, for x ≠ 2

5, for x = 2

x2 − 4

x − 2 x = 2

f(0) = − 2

247. If , then at 

A. f is continuous if 

B. f is continuous

C. f has irremovable discontinuity

D. f has removable discontinuity

f(x) =
⎧
⎨⎩

3√ , for x ≠ 0

e6, for x = 0

4x + 1
1 − 4x x = 0

f(0) = e − 8

https://dl.doubtnut.com/l/_eUU0upXjh5Tp
https://dl.doubtnut.com/l/_ZOPICPu0kXwm


Answer: D

Watch Video Solution

248. If  is continuous at , where

, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) x = 0

f(x) = ( ) , for x ≠ 0
4 − 3

4 + 5x

1
x

f(0) =

e2

e − 2

e − 3

e5

249. If  is continuous at , where , for ,

then 

f(x) x = 2 f(x) = (x − 1)
1

2 − x x ≠ 2

f(2) =

https://dl.doubtnut.com/l/_ZOPICPu0kXwm
https://dl.doubtnut.com/l/_dFecHUzKeFlJ
https://dl.doubtnut.com/l/_2Ul4rSS05Ht7


A. 

B. 

C. 

D. e

Answer: B

Watch Video Solution

−1

e

1

e

−e

250. If  is continuous at , where

, then 

A. 

B. 

C. e

D. 2e

Answer: C

f(x) x = 0

f(x) = { (sec2 x)
cot2 x

, for x ≠ 0

k,  for x = 0
k =

1

e

2

e

https://dl.doubtnut.com/l/_2Ul4rSS05Ht7
https://dl.doubtnut.com/l/_OEd6OxlpozRD


Watch Video Solution

251. If  is continuous at , where , for

, then 

A. 

B. 

C. 

D. e

Answer: B

Watch Video Solution

f(x) x =
π

4
f(x) = (1 + cos 2x)4 sec 2x

x ≠
π

4
f( ) =

π

4

e − 4

e4

4e

252. In order that the function  is continuous at x=0 ,

the value of f(0) must be defined as :

A. 

f(x) = (x + 1)cot x

f(0) = 0

https://dl.doubtnut.com/l/_OEd6OxlpozRD
https://dl.doubtnut.com/l/_SUlD9SBGuyWj
https://dl.doubtnut.com/l/_lG2mvFYDd2ZG


B. 

C. 

D. 

Answer: B

Watch Video Solution

f(0) = e

f(0) =
1

e

f(0) =
2

e

253.  for what value of k, f(x) is

continuous at x = 0 ?

A. e

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) =
⎧
⎨
⎩
(tan + x)

1 / x

, x ≠ 0

k, x = 0

π

4

e − 1

e2

e − 2

https://dl.doubtnut.com/l/_lG2mvFYDd2ZG
https://dl.doubtnut.com/l/_jKwaQ69Mr6TQ


Watch Video Solution

254. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x =
π

4
f(x) = (sin 2x)

tan2 2x

x ≠
π

4
f( ) =

π

4

1

√e

−1

√e

√e

e − 2

255. If  is continuous at , where , for 

, then 

A. 0

B. 1

f(x) x = 1 f(x) = (log2 2x)
log2 x

x ≠ 1 f(1) =

https://dl.doubtnut.com/l/_jKwaQ69Mr6TQ
https://dl.doubtnut.com/l/_YIwpC6XqTeLI
https://dl.doubtnut.com/l/_gSB8kMoPPUes


C. e

D. 

Answer: C

Watch Video Solution

e2

256. If is continuous at , where ,

then 

A. 4

B. -2

C. 2

D. 

Answer: C

Watch Video Solution

f(x) x = 0 f(x) = {
, for x ≠ 0

2, for x = 0

8x − 2x

kx − 1

k =

±2

https://dl.doubtnut.com/l/_gSB8kMoPPUes
https://dl.doubtnut.com/l/_2xqat02oFf0D
https://dl.doubtnut.com/l/_6hnMPSjGwkVm


257. If  is continuous at , where , for ,

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x = 0 f(x) =
4x − ex

6x − 1
x ≠ 0

f(0) =

log 4 − 1

log 6

1 − log 4

log 6

log 2 − 2

log 6

2 − log 2

log 6

258. The value of f at x =0 so that funcation  is

continuous at x =0 is

A. 0

B. 

C. 

f(x) = , x ≠ 0
2x − 2− x

x

e4

log 4

https://dl.doubtnut.com/l/_6hnMPSjGwkVm
https://dl.doubtnut.com/l/_I3jBu70dGw52


D. log 2

Answer: C

Watch Video Solution

259. The function  is not difined at x =

0. The value which should be assigned to f at x = 0, so that it is

continuous at x = 0, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) =
log(1 + ax) − log(1 − bx)

x

log a + log b

log a − log b

a + b

a − b

https://dl.doubtnut.com/l/_I3jBu70dGw52
https://dl.doubtnut.com/l/_Na5aAoXkBTx7
https://dl.doubtnut.com/l/_w8ChTug1Nr71


260. If  is continuous at , where

 , for , then 

A. 

B. 

C. 

D. 100

Answer: B

Watch Video Solution

f(x) x = 0

f(x) =
log 100 + log(0.01 + x)

3x
x ≠ 0 f(0) =

10

3

100

3

1

3

261. If  is continuous at , where

, then 

A. 1

B. -1

C. 2

f(x) x = 0

f(x) = {
log ( 1 − 2x ) (1 + 2x), for x ≠ 0

k, for x = 0
k =

https://dl.doubtnut.com/l/_w8ChTug1Nr71
https://dl.doubtnut.com/l/_4oaSS5mJSmvV


D. -2

Answer: B

Watch Video Solution

262. If  is continuous at x = 0,

then k is equal to

A. -1

B. 1

C. 3

D. -3

Answer: A

Watch Video Solution

f(x) = {
log ( 1 − 3x ) (1 + 3x), for x ≠ 0

k, for x = 0

https://dl.doubtnut.com/l/_4oaSS5mJSmvV
https://dl.doubtnut.com/l/_XG03S1AnUZHI


263. If is continuous aat , where , for 

, then 

A. 14

B. 7

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 7 f(x) =
log x − log 7

x − 7

x ≠ 7 f(7) =

1

14

1

7

264. If  is continuous at , where , for 

then 

A. 1

B. -1

C. 3

f(x) x = 0 f(x) =
e5x − e2x

sin 3x
x ≠ 0

f(0) =

https://dl.doubtnut.com/l/_JtECiYgQzPuN
https://dl.doubtnut.com/l/_PAVdSROIHuZD


D. 

Answer: A

Watch Video Solution

7
3

265. Let  for  for  is

continuous at  then 

A. 4

B. -2

C. 2

D. 

Answer: D

Watch Video Solution

f(x) =
(ekx − 1). sin Kx

x2
x ≠ 0; = 4, x = 0

x = 0 k

±2

https://dl.doubtnut.com/l/_PAVdSROIHuZD
https://dl.doubtnut.com/l/_J2VXuFWnZoHD


266. If  is continuous at , where , for 

, then 

A. 

B. 

C. 2

D. -2

Answer: C

Watch Video Solution

f(x) x = 0 f(x) =
(e2x − 1)tan x

x sin x

x ≠ 0 f(0) =

1

2

−1

2

267. If  is continuous at , where , for 

, then 

A. 

B. 

f(x) x = 0 f(x) =
(e3x − 1)sin x ∘

x2

x ≠ 0 f(0) =

π

180

π

60

https://dl.doubtnut.com/l/_yCUVlUXLrRUi
https://dl.doubtnut.com/l/_7Ot4S3DUCz5P


C. 

D. 3

Answer: B

Watch Video Solution

π

90

268. If  is continuous at , where , for 

, then 

A. 

B. 

C. 1

D. 

Answer: A

Watch Video Solution

f(x) x = 0 f(x) =
ex2

− cos x

x2
x ≠ 0

f(0) =

3
2

1
2

−1
2

https://dl.doubtnut.com/l/_7Ot4S3DUCz5P
https://dl.doubtnut.com/l/_jlmM2GD45l8L
https://dl.doubtnut.com/l/_C118zHwJKjJX


269. If  is continuous at , where ,

then 

A. log 9

B. log 3

C. log 1

D. log e

Answer: A

Watch Video Solution

f(x) x = 0 f(x) = {
, for x ≠ 0

k, for x = 0

3x − 3 − x

sin x

k =

270. If  is continuous at , where ,

then 

A. log 9

B. log 81

f(x) x = 0 f(x) = {
, for x ≠ 0

k, for x = 0

9x − 9 − x

sin x

k =

https://dl.doubtnut.com/l/_C118zHwJKjJX
https://dl.doubtnut.com/l/_mloeBuowQwU8


C. 2 log 3

D. 

Answer: B

Watch Video Solution

(log 9)2

271. If  is continuous at , where ,

for , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) x = 0 f(x) =
10x + 7x − 14x − 5x

1 − cos 4x

x ≠ 0 f(0) =

(log 2)log( )
1

4

5

7

(log 2)log( )
1

8

5

7

(log 2)log( )
1

4
7
5

(log 2)log( )
1

8
7
5

https://dl.doubtnut.com/l/_mloeBuowQwU8
https://dl.doubtnut.com/l/_cqDqK1BJ2BeI
https://dl.doubtnut.com/l/_JjgWol8kdWtw


272. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
(5x − 2x)x

cos 5x − cos 3x

x ≠ 0 f(0) =

log( )
−1

4

2

5

log( )
1

4

2

5

log( )
−1

8

2

5

log( )
1

8

2

5

273. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

f(x) x = 0 f(x) =
4x − 2x + 1 + 1

1 − cos x

x ≠ 0 f(0) =

(2 log 2)
2

2(log 2)
2

(log 2)
2

https://dl.doubtnut.com/l/_JjgWol8kdWtw
https://dl.doubtnut.com/l/_GRa5YPKDkFTK


D. 

Answer: B

Watch Video Solution

(log 2)
2

2

274. If  is continuous at , where  , for 

, then 

A. log 3

B. log 6

C. log 2

D. log 18

Answer: C

Watch Video Solution

f(x) x =
π

2
f(x) =

3x − − 6x −π

2
π

2

cos x

x ≠
π

2
f( ) =

π

2

https://dl.doubtnut.com/l/_GRa5YPKDkFTK
https://dl.doubtnut.com/l/_UklSJHNwWlBF


275. If  is continuous at , where , for 

, -1 for x=a, then 

A. e

B. 2e

C. 1

D. 0

Answer: C

Watch Video Solution

f(x) x = a, a > 0 f(x) = [
ax − xa

xx − aa

x ≠ a a =

276. If  is continuous at , where

, then 

A. 5

B. -5

f(x) x = 0

f(x) = {
, for x ≠ 0

5, for x = 0

log ( 1 + kx )

sin x k =

https://dl.doubtnut.com/l/_PJTzbyU9dlDM
https://dl.doubtnut.com/l/_zkMDe8jCI3qd


C. 

D. 

Answer: A

Watch Video Solution

1

5

−1

5

277. For what value of k, the function defined by 

 


is continuous at x = 0 ?

A. 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = {
, for x ≠ 0

k, for x = 0

log ( 1 + 2x ) sin x ∘

x2

1

2

π

90

90

π

https://dl.doubtnut.com/l/_zkMDe8jCI3qd
https://dl.doubtnut.com/l/_PMtybLGSWE14


278. If  is continuous at , where , for 

then 

A. e

B. 

C. 

D. 1

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
log sec2

x

x sin x
x ≠ 0

f(0) =

±1

−1

279. If  is continuous at , where

, for , then 

A. 0

B. 2

f(x) x = 0

f(x) =
log(1 + x2) − log(1 − x2)

sec x − cos x
x ≠ 0 f(0) =

https://dl.doubtnut.com/l/_PMtybLGSWE14
https://dl.doubtnut.com/l/_bZroJKs2Npep
https://dl.doubtnut.com/l/_BBp0tU9B8ryv


C. 1

D. -1

Answer: B

Watch Video Solution

280. If  is continuous at , where

, for , then 

A. 0

B. 2

C. 1

D. -1

Answer: A

Watch Video Solution

f(x) x = 0

f(x) =
log(1 + x + x2) + log(1 − x + x2)

sin x
x ≠ 0 f(0) =

https://dl.doubtnut.com/l/_BBp0tU9B8ryv
https://dl.doubtnut.com/l/_xVtXT5g3Gst6
https://dl.doubtnut.com/l/_X67zIllHVBbX


281. If  is continuous at , where

, for , then 

A. 

B. 

C. 2

D. 1

Answer: D

Watch Video Solution

f(x) x = 0

f(x) =
log(2 + x) − log(2 − x)

tan x
x ≠ 0 f(0) =

1

4

1

2

282. If f(x) is continous at  where 

find f(0).

A. 1

B. 3

C. 

x = 0, f(x) , forx ≠ 0,
(e3x − 1)sin x

x log(1 + x)

2

3

https://dl.doubtnut.com/l/_X67zIllHVBbX
https://dl.doubtnut.com/l/_uJzfTK5Feb8V


D. 

Answer: B

Watch Video Solution

1

3

283. If  in , then for removable

discontinuity of f at 

A. 4 log 8

B. 8 log 2

C. 

D. 

Answer: C

Watch Video Solution

f(x) =
(8x − 1)

2

sin x log(1 + )x

4

[ − 1, 1] − {0}

x = 0, f(0) =

4(log 8)
2

8(log 2)
2

https://dl.doubtnut.com/l/_uJzfTK5Feb8V
https://dl.doubtnut.com/l/_pq6dh4KysH38


284. If  is continuous at , where , for 

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0 f(x) =
(4sin x − 1)

2

x log(1 + 2x)

x ≠ 0 f(0) =

(log 4)21

4

(log 4)21

2

2(log 4)2

2(log 2)2

285. If  is continuous at , where , for 

, then 

A. 

B. log 9

f(x) x = 0 f(x) =
(3sin x − 1)

2

x log(1 − x)

x ≠ 0 f(0) =

(log 3)2

https://dl.doubtnut.com/l/_4XKA8Q6OVYhb
https://dl.doubtnut.com/l/_g3Gq8FZHsu6b


C.  log 3

D. log 3

Answer: A

Watch Video Solution

1

2

286. If  is continuous at , where 

, then 

A. 1

B. 

C. 2

D. -2

Answer: B

Watch Video Solution

f(x) x = 0

f(x) =
⎧⎪
⎨
⎪⎩

, for x ≠ 0

8, for x = 0

( ex − 1 ) 4

sin ( ) log(1 + )x2

k2
x2

2 k =

±2

https://dl.doubtnut.com/l/_g3Gq8FZHsu6b
https://dl.doubtnut.com/l/_GMSF6B0t0frC


287. If , for , then for f to be

continuous in 

A. 

B. 

C. -1

D. 1

Answer: D

Watch Video Solution

f(x) =
ex + e − x − 2

x sin x
x ∈ [ , ] − {0}

−π

2

π

2

[ , ], f(0) =
−π

2

π

2

−e2

e2

288. The function defined by  , is

continuous from right at point , then 

A. e

B. 

f(x) = { (1 + tan2 √x) , for x ≠ 0

k, for x = 0

1
2x

x = 0 k =

e2

https://dl.doubtnut.com/l/_yhWEnfIZe7sl
https://dl.doubtnut.com/l/_JxABbUtIWMeQ


C. 

D. 

Answer: C

Watch Video Solution

e
1
2

e
1
4

289. The function defined by 

 is continuous from right at the point

x =2, then k is equal to

A. 0

B. 4

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
⎧
⎨
⎩
(x2 + e )

− 1
, x ≠ 2

k                       , x = 2

1
2 − x

−1

4

1

4

https://dl.doubtnut.com/l/_JxABbUtIWMeQ
https://dl.doubtnut.com/l/_xGq4wiU274yo


290. If , then at 

A. f is discontinuous

B. f is continuous

C. 

D. 

Answer: B

Watch Video Solution

f(x) = x2 − sin x + 5 x = π

lim
x → π −

f(x) = π2 − 5

lim
x → π +

f(x) = 5 − π2

291. If  , then

A. 

B. 

C. f is continuous at 

f(x) = {
x, for 0 ≤ x <

1 − x, for ≤ x < 1

1
2

1
2

lim
x →

f(x) =
1 −

2

−1

2

lim
x →

f(x) =
1 +

2

−1

2

x =
1

2

https://dl.doubtnut.com/l/_xGq4wiU274yo
https://dl.doubtnut.com/l/_2NDet1OLgwJl
https://dl.doubtnut.com/l/_Q1UxW4OKboT5


D. f is discontinuous at 

Answer: C

Watch Video Solution

x =
1

2

292. If , then f is

A. continuous at 

B. discontinuous at 

C. continuous at  and discontinuous at 

D. continuous at  and discontinuous at 

Answer: D

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

, for 0 < x < 3

x + 3, for 3 ≤ x < 6

, for 6 ≤ x < 9

x2 − 9

x − 3

x2 − 9

x + 3

x = 3, x = 6

x = 3, x = 6

x = 6 x = 3

x = 3 x = 6

https://dl.doubtnut.com/l/_Q1UxW4OKboT5
https://dl.doubtnut.com/l/_xcdqemVWje4R


293. If , then

A. f is discontinuous at 

B. f is continuous at 

C. 

D. 

Answer: A

Watch Video Solution

f(x) =
⎧
⎨⎩

, for 0 < x <

, for < x < π

sin 2x

√1 − cos 2x

π

2

cos x

π − 2x

π

2

x =
π

2

x =
π

2

lim
x →

f(x) =
π −

2

1

2

lim
x →

f(x) = 0
π +

2

294. If , then at 

A. 

B. 

C. f has removable discontinuity at 

D. f has irremovable discontinuity at 

f(x) = {
x − 1, for 1 ≤ x < 2

2x + 3, for 2 ≤ x ≤ 3
x = 2

lim
x → 2 −

f(x) = 7

lim
x → 2 +

f(x) = 1

x = 2

x = 2

https://dl.doubtnut.com/l/_O1N43E5dbG2D
https://dl.doubtnut.com/l/_G3rlMRLpXc8O


Answer: D

Watch Video Solution

295. If , then

A.  is discontinuous at 

B.  is continuous at 

C.  is continuous at 

D.  is discontinuous at 

Answer: A

Watch Video Solution

f(x) = {
x sin x, for 0 < x ≤

sin(π + x), for < x < π

π

2
π

2
π

2

f(x) x =
π

2

f(x) x =
π

2

f(x) x = 0

f(x) x = 0

296. If  is continuous at , where

, then 

f(x) x = 0

f(x) =
⎧
⎨
⎩

+ cos x, for x > 0

, for x < 0

sin x
x

4 (1 − √1 − x )

x

f(0) =

https://dl.doubtnut.com/l/_G3rlMRLpXc8O
https://dl.doubtnut.com/l/_WVktjrY80Ajt
https://dl.doubtnut.com/l/_GBp2zOgIlP4m


A. 2

B. -2

C. 4

D. -4

Answer: A

Watch Video Solution

297. If , then

A. 

B. 

C. f has removable discontinuity

D. f has irremovable discontinuity

Answer: D

Watch Video Solution

f(x) = {
x + 2, if x ≤ 4

x + 4, if x > 4

lim
x → 4 +

f(x) = 6

lim
x → 4 −

f(x) = 8

https://dl.doubtnut.com/l/_GBp2zOgIlP4m
https://dl.doubtnut.com/l/_yO0EOTrI0vWp


298. If , then

A. 

B. 

C. f has irremovable discontinuity

D. f has removable discontinuity

Answer: D

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

2x, if x < 2

2, if x = 2

x2, if x > 2

lim
x → 2 −

f(x) = − 4

lim
x → 2 +

f(x) = − 4

299. If , then f has removable

discontinuity at , if 

A. 2

f(x) =
⎧⎪
⎨
⎪⎩

x − 1, for 1 ≤ x < 2

2, for x = 2

2x − 3, for 2 < x < 3

x = 2 f(2) =

https://dl.doubtnut.com/l/_yO0EOTrI0vWp
https://dl.doubtnut.com/l/_bBNZF9okRL0O
https://dl.doubtnut.com/l/_kiGU5g3sOGrx


B. 3

C. 1

D. -1

Answer: C

Watch Video Solution

300. If , then at 

A. 

B. 

C. f has removable discontinuity

D. f has irremovable discontinuity

Answer: D

Watch Video Solution

f(x) = {
x2, for x ≤ 1

x + 3, for x > 1
x = 1

lim
x → 1 −

f(x) = 4

lim
x → 1 +

f(x) = 1

https://dl.doubtnut.com/l/_kiGU5g3sOGrx
https://dl.doubtnut.com/l/_iQiaHcizxTwJ
https://dl.doubtnut.com/l/_Wv0gcNzWNyYW


301. If , for , then  is

A. continuous in (2, 4) except at 

B. discontinuous in (2, 4) except at 

C. discontinuous in (2, 4)

D. continuous in (2, 4)

Answer: D

Watch Video Solution

f(x) = √x − 2 2 < x < 4 f(x)

x = 3

x = 3

302. If , then in [0, 1]

A. f(x) is not continuous

B. f(x is continuous

C. f(x) is continuous at 

D. f(x) is continuous at 

f(x) = {
1 − x, for 0 < x ≤ 1

, for x = 01
2

x = 0

x = 1

https://dl.doubtnut.com/l/_Wv0gcNzWNyYW
https://dl.doubtnut.com/l/_0Vi3JyORp99X


Answer: A

Watch Video Solution

303. If , then

A. f(x) is discontinuous in its domain

B. f(x) is continuous in its domain

C. f(x) is continuous in its domain except at 

D. f(x) is continuous in its domain except at 

Answer: B

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

3x + 5, for 0 ≤ x < 3

2x + 8, for 3 ≤ x < 5

x + 13, for 5 ≤ x ≤ 10

x = 3

x = 5

304. If , thenf(x) = {
, for x < 0

x + 1, for x ≥ 0

sin x
x

https://dl.doubtnut.com/l/_0Vi3JyORp99X
https://dl.doubtnut.com/l/_tMMtbXbFd0L8
https://dl.doubtnut.com/l/_pE7CnB3A5ULW


A. f is continuous on its domain

B. f is discontinuous on its domain

C. f is continuous on its domain except 

D. f is discontinuous on its domain except 

Answer: A

Watch Video Solution

x = 0

x = 0

305. If  then

A. f is continuous on its domain

B. f is continuous on its domain except 

C. f is continuous on its domain except 

D. f is continuous on its domain except 

Answer: C

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

, for 0 ≤ x < 2

4x − 5, for 2 ≤ x ≤ 4

, for 4 < x ≤ 6,x ≠ 5

2x + 5

x + 1

x2 + 2

x − 5

x = 5

x = 4

x = 2

https://dl.doubtnut.com/l/_pE7CnB3A5ULW
https://dl.doubtnut.com/l/_JStq5zuo9RnZ


Watch Video Solution

306. If 

A. f is continuous on its domain except 

B. f is continuous on its domain

C. f is discontinuous on its domain

D. f is continuous on its domain except 

Answer: A

Watch Video Solution

f(x) =
⎧
⎨⎩

, for 0 < x ≤

, for < x ≤ π

sin 2x

√1 − cos 2x

π

2

cos x

π − 2x

π

2

x =
π

2

x = 0

307. If , then f is

A. f is continuous at 

B. f is discontinuous at 

f(x) =
⎧⎪
⎨
⎪⎩

x, for 0 ≤ x < 1

2, for x = 1

x + 1, for 1 < x ≤ 2

x = 1

x = 1

https://dl.doubtnut.com/l/_JStq5zuo9RnZ
https://dl.doubtnut.com/l/_cm268ZxokXnx
https://dl.doubtnut.com/l/_C2ZbEHSKXS32


C. 

D. 

Answer: B

Watch Video Solution

lim
x → 1 −

f(x) = 2

lim
x → 1 +

f(x) = 1

308. If  in [0, 5], then f is

A. continuous on its domain except at 

B. continuous on its domain except at 

C. continuous on its domain except at 

D. continuous on its domain

Answer: B

Watch Video Solution

f(x) =
x3 + 3x + 5

x3 − 3x + 2

x = 1, x = − 2

x = 1

x = − 2

https://dl.doubtnut.com/l/_C2ZbEHSKXS32
https://dl.doubtnut.com/l/_NhUzTXwUkgxY


309. If , then in [4, 6]

A. f is discontinuous

B. f is continuous

C. f is continuous except at 

D. f is continuous except at 

Answer: D

Watch Video Solution

f(x) =
x + 1

(x − 2)(x − 5)

x = 2

x = 5

310. If , then in [0, 1]

A. f is continuous

B. f is discontinuous

C. f is continuous except at 

D. f is continuous except at 

f(x) =
x + 1

(x − 2)(x − 5)

x = 0

x = 1

https://dl.doubtnut.com/l/_ddp1eqPyxtjo
https://dl.doubtnut.com/l/_jh9HoOnHL6Es


Answer: A

Watch Video Solution

311. If , then f is

A. continuous on R except at 

B. continuous on R

C. discontinuous on R except at 

D. continuous on  only

Answer: B

Watch Video Solution

f(x) = {
x, for x ≥ 0

x2, for x < 0

x = 0

x = 0

R +

312. If , thenf(x) =
⎧⎪
⎨
⎪⎩

x2 − 4, for 0 ≤ x ≤ 2

2x + 3, for 2 < x ≤ 4

x2 − 5, for 4 < x ≤ 6

https://dl.doubtnut.com/l/_jh9HoOnHL6Es
https://dl.doubtnut.com/l/_oo3nesVaExAA
https://dl.doubtnut.com/l/_Xv32Ti3yWDmX


A. f is continuous on [0, 6]

B. f is discontinuous on [0, 6]

C. f is continuous on [0, 6] except at 

D. f is continuous on [0, 6] except at 

Answer: C

Watch Video Solution

x = 2

x = 4

313. If  , then

A. f is discontinuous on [2, 6]

B. f is continuous on [2, 6]

C. f is continuous on [2, 6] except at 

D. f is continuous on [2, 6] except at 

Answer: D

W t h Vid S l ti

f(x) =
⎧
⎨⎩

, for 2 ≤ x ≤ 4

, for 4 < x ≤ 6

1
x + 1

x + 1

x − 3

x = 3

x = 4

https://dl.doubtnut.com/l/_Xv32Ti3yWDmX
https://dl.doubtnut.com/l/_4fQ92YALgx0y


Watch Video Solution

314. If , then

A. f is continuous on [0, 10] except at 

B. f is continuous on [0, 10] except at 

C. f is continuous on [0, 10] except at 

D. f is continuous on [0, 10]

Answer: A

Watch Video Solution

f(x) =

⎧⎪
⎨
⎪⎩

3, if 0 ≤ x ≤ 1

4, if 1 < x < 3

5, if 3 ≤ x ≤ 10

x = 1, 3

x = 1

x = 3

315. If , then

A. f is discontinuous on its domain

B. f is continuous on its domain

f(x) =
⎧⎪
⎨
⎪⎩

−2, for x ≤ − 1

2x, for − 1 < x ≤ 1

2, for x > 1

https://dl.doubtnut.com/l/_4fQ92YALgx0y
https://dl.doubtnut.com/l/_95dbGnVo6sOJ
https://dl.doubtnut.com/l/_5WYKsCU7fHZL


C. f is continuous on its domain except at 

D. f is continuous on its domain except at 

Answer: B

Watch Video Solution

x = − 1

x = 1

316. 

A. f is continuous on its domain except at 

B. f is continuous on its domain except at 

C. f is continuous on its domain except at 

D. f is continuous on its domain

Answer: C

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

|x| + 3 if x ≤ − 3

−2x if − 3 < x < 3

6x + 2 if x ≥ 3

x = − 3

x = 3

x = − 3, 3

https://dl.doubtnut.com/l/_5WYKsCU7fHZL
https://dl.doubtnut.com/l/_QF7c3ceto0CJ
https://dl.doubtnut.com/l/_QNIac6O9cQ3f


317. If  , then

A.  is continuous at 

B.  is discontinuous at 

C.  is continuous at 

D.  is discontinuous at 

Answer: B

Watch Video Solution

f(x) = {
2x, for x < 0

2x + 1, for x ≥ 0

f(|x|) x = 0

f(x) x = 0

f(x) x = 0

f(|x|) x = 0

318. Function  is a continuous function

A. for x = 2 only

B. for all real values of x

C. for all real values of x such that 

D. for all integral values of x only

f(x) = {
x − 1, x < 2

2x − 3, x ≥ 2

x ≠ 2

https://dl.doubtnut.com/l/_QNIac6O9cQ3f
https://dl.doubtnut.com/l/_MzF3PF3JSmY8


Answer: B

Watch Video Solution

319. If , then

A. f is continuous on R

B. f is continuous on R - (-5, 4)

C. f is continuous on R - {-5, 4}

D. f is continuous on R - [-5, 4]

Answer: C

Watch Video Solution

f(x) =
x3 − 8

x2 + x − 20

320. If , then on [0, 6]

A. f is continuous except at 

f(x) =
⎧
⎨
⎩

, for 0 ≤ x < 4

, for 4 ≤ x ≤ 6

x2 − 3x + 2

x − 3

x2 − 1

x − 2

x = 2

https://dl.doubtnut.com/l/_MzF3PF3JSmY8
https://dl.doubtnut.com/l/_ud8zTWHMc9Sp
https://dl.doubtnut.com/l/_DrgpYK2FQPzd


B. f is continuous except at 

C. f is continuous except at 

D. f is continuous except at 

Answer: D

Watch Video Solution

x = 3

x = 4

x = 3and x = 4

321. If  is continuous at , where ,

then 

A. 7

B. 8

C. 6

D. -6

Answer: C

Watch Video Solution

f(x) x = 1 f(x) = {
k + x, for x < 1

4x + 3, for x ≥ 1

k =

https://dl.doubtnut.com/l/_DrgpYK2FQPzd
https://dl.doubtnut.com/l/_Rkovz7xXlU1e


322. If  is continuous at , where

 , then 

A. 3

B. -2

C. -1

D. 1

Answer: C

Watch Video Solution

f(x) x = 0

f(x) = {
x2 + 1, for x ≥ 0

2√x2 + 1 + k, for x < 0
k =

323. If  is continuous at , where

, then 

A. 

B. 

f(x) x = 0

f(x) = {
k(x2 − 2), for x ≤ 0

4x + 1, for x > 0
k =

1
2

−1
2

https://dl.doubtnut.com/l/_Rkovz7xXlU1e
https://dl.doubtnut.com/l/_fMaYXFKEbBtI
https://dl.doubtnut.com/l/_ASNAHhBnCWN4


C. 2

D. -2

Answer: B

Watch Video Solution

324. If  is continuous at , where

 and , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0

f(x) = {
x2 + α, for x ≥ 0

2√x2 + 1 + β, for x < 0
f( ) = 2

1

2

α = , β =
−1

4
7
4

α = , β =
−7
4

1

4

α = , β =
1

4
−7
4

α = , β =
7
4

−1

4

https://dl.doubtnut.com/l/_ASNAHhBnCWN4
https://dl.doubtnut.com/l/_reIbHTlhqZcb
https://dl.doubtnut.com/l/_RQq3P9UwHTwB


325. If  is continuous at , where

, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) x = 3

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

+ α, for x > 3

5, for x = 3

2x2 + 3x + β, for x < 3

x2 − 9

x − 3

α = − 1, β = 22

α = 1, β = − 22

α = − 1, β = − 22

α = 1, β = 22

326. If  is continuous at  and , where

 , then

A. 

B. 

f(x) x = 2 x = 10

f(x) =

⎧⎪
⎨
⎪⎩

5, if x ≤ 2

ax + b, if 2 < x < 10

21, if x ≥ 10

a = 2, b = 1

a = − 2, b = − 1

https://dl.doubtnut.com/l/_RQq3P9UwHTwB
https://dl.doubtnut.com/l/_c0jw97XR5Thk


C. 

D. 

Answer: A

Watch Video Solution

a = 2, b = − 1

a = − 2, b = 1

327. If  is continuous at , where ,

then 

A. 2

B. 4

C. -2

D. 

Answer: B

Watch Video Solution

f(x) x = 1 f(x) = {
kx2, for x ≥ 1

4, for x < 1

k =

±2

https://dl.doubtnut.com/l/_c0jw97XR5Thk
https://dl.doubtnut.com/l/_cDs1mDkd4p6D
https://dl.doubtnut.com/l/_gaZymsZKSUu5


328. If  is continuous on [0, 8] , where

, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x)

f(x) =
⎧⎪
⎨
⎪⎩

x2 + ax + 6, for 0 ≤ x < 2

3x + 2, for 2 ≤ x ≤ 4

2ax + 5b, for 4 < x ≤ 8

a = − 1, b =
22

5

a = − 1, b =
−8

5

a = − 1, b =
−22

5

a = 1, b =
8

5

329. If  is continuous in [0, 3], where

, then 

A. 6

B. -14

f(x)

f(x) = {
3x − 4, for 0 ≤ x ≤ 2

2x + k, for 2 < x ≤ 3
k =

https://dl.doubtnut.com/l/_gaZymsZKSUu5
https://dl.doubtnut.com/l/_4ElHGWFpPkdR


C. 2

D. -2

Answer: D

Watch Video Solution

330. If  continuous on its domain, where

, then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x)

f(x) =
⎧⎪
⎨
⎪⎩

6, for x ≤ 2

ax + b, for 2 < x < 10

22, for x ≥ 10

a = 3, b = 1

a = 2, b = − 1

a = 3, b = − 1

a = 2, b = 2

https://dl.doubtnut.com/l/_4ElHGWFpPkdR
https://dl.doubtnut.com/l/_Kd8yheCCVYlh


331. If f (x) is continuous on  defined as 


 


 


find the value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0 − 4, 2],

f(x) = 6b − 3ax, for − 4 ≤ x < − 2

= 4x + 1,  for − 2 ≤ x ≤ 2,

a + b.

7
6

−7
6

9

2

−9

2

332. If  is continuous at , where ,

then

A. 

f(x) x = 3 f(x) =
ax + 1, for x ≤ 3

bx + 3, for x > 3

a + b =
2

3

https://dl.doubtnut.com/l/_3EVwFa1dUvv3
https://dl.doubtnut.com/l/_vLiBZfrrHyF5


B. 

C. 

D. 

Answer: C

Watch Video Solution

a + b =
−2

3

a − b =
2

3

a − b =
−2

3

333. If  is continuous in [-2, 2], where ,

then 

A. 0

B. -2

C. 

D. 2

Answer: D

W t h Vid S l ti

f(x) f(x) =
⎧⎪
⎨
⎪⎩

x + a, for x < 0

x, for 0 ≤ x < 1

b − x, for x ≥ 1

a + b =

±2

https://dl.doubtnut.com/l/_vLiBZfrrHyF5
https://dl.doubtnut.com/l/_10PqB1oifN0e


Watch Video Solution

334. If 

A. -1

B. -2

C. -3

D. -4

Answer: B

Watch Video Solution

f(x) = {
, for−1 ≤ x < 0

2x2 + 3x − 2 , for0 ≤ x ≤ 1

√1 + kx − √1 − kx

x

335. If the function  given by 


 is continuous at x = 1, then a is equal to

A. 2

B. 1

f : R → R

f(x) = {
x + a, if x ≤ 1

3 − x2, if x > 1

https://dl.doubtnut.com/l/_10PqB1oifN0e
https://dl.doubtnut.com/l/_vPA2WZxoN6l2
https://dl.doubtnut.com/l/_2yvmk8x9AfyV


C. 4

D. 3

Answer: B

Watch Video Solution

336. If  is continuous at  , then

the most suitable values of a, b are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

ax2 − b, for 0 ≤ x < 1

2, for x = 1

x + 1, for 1 < x ≤ 2

x = 1

a = 2, b = − 2

a = − 1, b = − 1

a = 1, b = 1

a = 1, b = − 1

https://dl.doubtnut.com/l/_2yvmk8x9AfyV
https://dl.doubtnut.com/l/_TyUlqXypruh4


337. If the function and the derivative of the function  is everywhere

continuous and is given by 

, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x)

f(x) = {
bx2 + ax + 4, for x ≥ − 1

ax2 + b, for x < − 1

a = 3, b = 2

a = 2, b = 3

a = − 2, b = − 3

a = − 3, b = − 2

338. If  is continuous at , where ,

then 

A. -1

B. 1

f(x) x = 2 f(x) = {
4x − 3, for x < 2

kx + 7, for x > 2

k =

https://dl.doubtnut.com/l/_VA2oN91VNRHH
https://dl.doubtnut.com/l/_CoiWonN5UCGM


C. -6

D. 6

Answer: A

Watch Video Solution

339. If  is continuous at , where

, then 

A. 2

B. 0

C. 4

D. 8

Answer: D

Watch Video Solution

f(x) x = 0

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

, for x < 0

k, for x = 0

, for x > 0

1 − cos 4x

x2

√x

√16 + √x − 4

k =

https://dl.doubtnut.com/l/_CoiWonN5UCGM
https://dl.doubtnut.com/l/_Jcf0yc4a8NtJ


340. If  is continuous at , where

, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) x = 0

f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

+ a, for x > 0

x + 4 − b, for x < 0

1, for x = 0

sin 4x
5x

a = , b = 3
1

5

a = , b = − 3
−1

5

a = , b = − 3
1

5

a = , b = 3
−1

5

341. If  


 

 

is continuous at x =1 , find a and b

f(x) = + a,  for x < 1
sin πx

x − 1

= 2π,  for x = 1

= (1 − x)2 + b,  forx > 1
1 + cos πx

π

https://dl.doubtnut.com/l/_Jcf0yc4a8NtJ
https://dl.doubtnut.com/l/_H5u1dsQDoDHo
https://dl.doubtnut.com/l/_5OldZC5JA1o4


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a = π, b =
3π

2

a = 3π, b =
3π

2

a = π, b =
5π

2

a = 3π, b =
5π

2

342. If  and  are continuous at , where

, then

A. 

B. 

C. 

D. 

Answer: D

f(x) f' (x) x =
π

6

f(x) = {
sin 2x, if x <

ax + b, if x >

π

6
π

6

a = − 2, b = +
√3

2

π

3

a = 2, b = −
√3

2

π

3

a = − 1, b = +
√3

2

π

6

a = 1, b = −
√3

2

π

6

https://dl.doubtnut.com/l/_5OldZC5JA1o4
https://dl.doubtnut.com/l/_kpGvAAkmJ7fd


Watch Video Solution

343. If  is continuous at , where

, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) x = 0

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

, for x < 0

c, for x = 0

, for x > 0

sin ( a + 1 ) x + sin x

x

√x + bx2 − √x

b√x

a = − 2, b = 0, c = 0

a = − 2, b = R, c = 0

a = − 2, b ≠ 0, c = 0

a = − 2, b = 0, c ≠ 0

https://dl.doubtnut.com/l/_kpGvAAkmJ7fd
https://dl.doubtnut.com/l/_NjWRbGXmqHpZ


344. If  is continuous at , where

, then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) x = 0

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

, for x < 0

c, for x = 0

, for x > 0

sin ( a + 1 ) x + sin x

x

√x + bx2 − √x

b√x

a = − 2, b = R, c = 0

a = − 2, b ≠ 0, c = 0

a = , b = R, c =
−3
2

1
2

a = , b = R − {0}, c =
−3
2

1
2

345. If  is continuous on [-2, 2], where

, then 

A. -15

f(x)

f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

+ 2, for − 2 ≤ x < 0

3x + 5, for 0 ≤ x ≤ 1

√x2 + 8 − b, for 1 < x < 2

sin ax
x

a + b =

https://dl.doubtnut.com/l/_h4fLDApblzzB
https://dl.doubtnut.com/l/_aYZ6cAIYAuZa


B. 0

C. 2

D. -2

Answer: D

Watch Video Solution

346. The values of a and b so that the function

 is continuous for 

, are

A. 

B. 

C. 

D. 

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

x + a√2 sin x, 0 ≤ x < π /4

2x cot x + b, π /4 ≤ x ≤ π /2

a cos 2x − b sin x, π /2 < x ≤ π

x ∈ [0, π]

a = , b =
−π

6

π

12

a = , b =
π

6

−π

12

a = , b =
−π

6

−π

12

a = , b =
π

6

π

12

https://dl.doubtnut.com/l/_aYZ6cAIYAuZa
https://dl.doubtnut.com/l/_bMJcHhOLVJsF


Answer: B

Watch Video Solution

347. If f(x) is continuous over , where f(x) is defined as 


 

then  and  equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ − π, π]

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

−2 sin x , −π ≤ x ≤

α sin x + β , − < x <

cos x , ≤ x < π

− π

2
π

2
π

2
π

2

α β

α = 1, β = 1

α = − 1, β = − 1

α = − 1, β = 1

α = 1, β = − 1

https://dl.doubtnut.com/l/_bMJcHhOLVJsF
https://dl.doubtnut.com/l/_FSVZloIyJLKX


348. If  is continuous in [-2, 2], where

, then 

A. 3

B. 1

C. 4

D. 2

Answer: C

Watch Video Solution

f(x)

f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

− 1, for  − 2 ≤ x < 0

2x + 1, for 0 ≤ x ≤ 1

2b√x2 + 3 − 1, for 1 < x ≤ 2

sin ax

x

a + b =

349. If  is continuous in , where

, then

A. 

f(x) ( − ∞, 6)

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

1 + sin( ), for − ∞ < x ≤ 1

ax + b, for 1 < x < 3

6 tan( ), for 3 ≤ x < 6

πx

2

πx

12

a = 2, b = 0

https://dl.doubtnut.com/l/_K7yJi2auZfRF
https://dl.doubtnut.com/l/_u1D4YWRiHtX9


B. 

C. 

D. 

Answer: A

Watch Video Solution

a = 0, b = 2

a = 1, b = 1

a = 2, b = 1

350. If  is continuous, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = {
ax + 1, x ≤

sin x + b, x >

π

2
π

2

= b
aπ

2

= aa

bπ

2

a = b =
π

2

a = b = + 1
π

2

https://dl.doubtnut.com/l/_u1D4YWRiHtX9
https://dl.doubtnut.com/l/_1BIBYlzUDXNj


351. If , then f is

A. continuous at 

B. discontinuous at 

C. continuous if 

D. discontinuous if 

Answer: B

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

, for x ≠ 0

1, for x = 0

e − 1
1
x

e + 1
1
x

x = 0

x = 0

f(0) = − 1

f(0) = − 1

352. If  is continuous at , where , then

A. 1

B. 0

C. -1

f(x) x = 0 f(x)
⎧
⎨⎩

, for x ≠ 0

k, for x ≠ 0

1

1 + e
1
x

k =

https://dl.doubtnut.com/l/_zz4oHVkj89dx
https://dl.doubtnut.com/l/_vnY4LI3urrMS


D. does not exists

Answer: D

Watch Video Solution

353. The function  at every  is

A. continuous on 

B. continuous on R

C. discontinuous on 

D. discontinuous on R

Answer: B

Watch Video Solution

f(x) = k(k ∈ R) x ∈ R

R +

R +

https://dl.doubtnut.com/l/_vnY4LI3urrMS
https://dl.doubtnut.com/l/_kMQ8dnZjmhKb


354. The composition of two continuous functions is a continuous

function.

A. discontinuous

B. continuous

C. continuous for some real numbers

D. discontinuous for some real numbers

Answer: B

Watch Video Solution

355. If , then f is

A. discontinuous for all 

B. continuous for all 

C. continuous for all 

D. continuous for all 

f(x) = sin x

x ∈ R

x ∈ R +

x ∈ R −

x ∈ R

https://dl.doubtnut.com/l/_pYPTid3H8JCt
https://dl.doubtnut.com/l/_R1nFcLMFV2yZ


Answer: D

Watch Video Solution

356. If , then f is

A. continuous for all 

B. discontinuous for all 

C. continuous for only 

D. continuous for only 

Answer: A

Watch Video Solution

f(x) = sin x2

x ∈ R

x ∈ R

x ∈ R +

x ∈ R −

357. If , then f is

A. continuous for all 

f(x) = ax, a > 0

x ∈ R +

https://dl.doubtnut.com/l/_R1nFcLMFV2yZ
https://dl.doubtnut.com/l/_QNF5O8fWgmpd
https://dl.doubtnut.com/l/_zifHqhw1M6CK


B. continuous for all 

C. continuous for all 

D. discontinuous for all 

Answer: C

Watch Video Solution

x ∈ R −

x ∈ R

x ∈ R

358. The function , where  is

A. continuous in 

B. continuous in 

C. discontinuous in 

D. discontinuous in 

Answer: B

Watch Video Solution

f(x) = logc x c > 0, x > 0

( − ∞, ∞)

(0, ∞)

( − ∞, ∞)

(0, ∞)

https://dl.doubtnut.com/l/_zifHqhw1M6CK
https://dl.doubtnut.com/l/_GnFLAD3KFl2Q
https://dl.doubtnut.com/l/_zwjhdQTp7L7G


359. The rational function  is

A. continuous

B. discontinuous for integer values only

C. continuous for integer values only

D. continuous for imaginary values only

Answer: A

Watch Video Solution

f(x) = , h(x) ≠ 0
g(x)

h(x)

360. The function  is

A. continuous on R

B. discontinuous on R

C. continuous on only 

D. discontinuous only 

f(x) = |x|

R +

R +

https://dl.doubtnut.com/l/_zwjhdQTp7L7G
https://dl.doubtnut.com/l/_ENk0d6K5nHvW


Answer: A

Watch Video Solution

361. The function  is

A. continuous on R

B. discontinuous on R

C. continuous on only 

D. discontinuous only 

Answer: A

Watch Video Solution

f(x) = |cos x|

R +

R +

362. If , then at 

A. discontinuous

f(x) = |x| x = 0

https://dl.doubtnut.com/l/_ENk0d6K5nHvW
https://dl.doubtnut.com/l/_IAIocGFZ9zNd
https://dl.doubtnut.com/l/_IMtHtvV1lZ8g


B. continuous

C. 

D. 

Answer: B

Watch Video Solution

lim
x → 0

f(x) = 1

lim
x → 0

f(x) = − 1

363. If  is continuous at , where  ,

then 

A. 1

B. 0

C. -1

D. does not exist

Answer: B

Watch Video Solution

f(x) x = 3 f(x) = {
|x − 3|, for x ≠ 3

k, for x = 3

k =

https://dl.doubtnut.com/l/_IMtHtvV1lZ8g
https://dl.doubtnut.com/l/_R0tuUqjaIcmy


364. If , where x is the greatnest integer not greater than x, in

(-4, 4), then  is

A. discontinuous at , only in (-4, 4)

B. continuous at  only in (-4,4)

C. discontinuous at every integral point of (-4,4)

D. continuous at every integral point of (-4,4)

Answer: C

Watch Video Solution

f(x) = [x]

f(x)

x = 0

x = 0

365. If , then f is

A. discontinuous for all 

B. continuous for all 

C. continuous for all 

f(x) = |(1 + x)|x ∣ ∣

x ∈ R

x ∈ R

x ∈ R +

https://dl.doubtnut.com/l/_R0tuUqjaIcmy
https://dl.doubtnut.com/l/_75VCLL8Jqdw6
https://dl.doubtnut.com/l/_QYzv4p3CkoVz


D. continuous for all 

Answer: B

Watch Video Solution

x ∈ R −

366. If , then in [-1, 2]

A. f is continuous except at 

B. f is continuous except at 

C. f is continuous

D. f is discontinuous

Answer: C

Watch Video Solution

f(x) = |x| + |x − 1|

x = 0

x = 1

367. The function  is continuous forf(x) = x + |x|

https://dl.doubtnut.com/l/_QYzv4p3CkoVz
https://dl.doubtnut.com/l/_gsphvNfo17HR
https://dl.doubtnut.com/l/_wDPOq9h0nJIF


A. only 

B. 

C. 

D. no values of x

Answer: C

Watch Video Solution

x > 0

x ∈ ( − ∞, ∞) − {0}

x ∈ ( − ∞, ∞)

368. The function  is

A. continuous for all 

B. continuous for all 

C. continuous for all 

D. discontinuous for all 

Answer: C

Watch Video Solution

f(x) = |x| ∀x ∈ R

x ∈ R −

x ∈ R +

x ∈ R

x ∈ R

https://dl.doubtnut.com/l/_wDPOq9h0nJIF
https://dl.doubtnut.com/l/_yUpFcqMuWs7n


369. If , then at 

A. f is continuous

B. f is discontinuous

C. 

D. 

Answer: A

Watch Video Solution

f(x) = 2x − |x| x = 0

lim
x → 0 −

f(x) = 3

lim
x → 0 +

f(x) = 1

370. If , then f is

A. continuous at 

B. discontinuous at 

C. continuous if 

f(x) = {
, for x ≠ 0

c, for x = 0

x

|x |

x = 0

x = 0

f(0) = 1

https://dl.doubtnut.com/l/_yUpFcqMuWs7n
https://dl.doubtnut.com/l/_sa7uOyfR8KFj
https://dl.doubtnut.com/l/_aOY5vqVKb3Ie


D. continuous if 

Answer: B

Watch Video Solution

f(0) = − 1

371. If , then

A. 

B. 

C. f is discontinuous at origin

D. f is continuous at origin

Answer: C

Watch Video Solution

f(x) = {
, for x ≠ 0

1, for x = 0

|x |
x

lim
x → 1 −

f(x) = 1

lim
x → 1 +

f(x) = − 1

https://dl.doubtnut.com/l/_aOY5vqVKb3Ie
https://dl.doubtnut.com/l/_ZKNc6BjDA0KS


372. If  is defined by (where [.] is g.i.f)  for

 then 

A. 0

B. -1

C. -2

D. 1

Answer: A

Watch Video Solution

f : R → R f(x)[x − 3] + |x − 4|

x ∈ R lim
x → 3 −

f(x) =

373. If  is continuous at , where ,

then 

A. 

B. 

f(x) =
⎧
⎨
⎩

, for x ≠

k, for x =

cot x − cos x

( π − 2x ) 3

π

2

π

2

x =
π

2

k =

1

4

1

24

https://dl.doubtnut.com/l/_XtPWtq2f5ek1
https://dl.doubtnut.com/l/_nnPMIR6BTuRh


C. 

D. 

Answer: C

Watch Video Solution

1

16

1

8

374. If  for  for x=0 is continuous at x=0, then

K is

A. 

B. 1

C. e

D. 0

Answer: B

Watch Video Solution

f(x) = log(sec2 x)
cot 2

x ≠ 0

e − 1

https://dl.doubtnut.com/l/_nnPMIR6BTuRh
https://dl.doubtnut.com/l/_GlKXwCS0qlbw

